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MAINDEC-8/I-DO1C-D

1. ABSTRACT

This is a diagnostic program for testing the AND, TAD, and OPERATE

instructions of the PDP-81 ONLY,

2. REQUIREMENTS

2.1 Equipment

A PDP-8I equipped with Teletype.

2.2 Storage

This program uses locations 0000-4421, The Binary Loader must be

stored in the last memory page.

2.3 Preliminary Programs

3. LOADING PROCEDURE

3.1 Method

The standard Binary Loader is used.

4, STARTING PROCEDURE
4,1 Control Switch Setiings
SR = 7777

4.2 Starting Address

0144
4.3 Operator Action
1. Set SR to 144 and press LOAD ADDRESS.
2. Set SR to 7777 and push START.
3. Program will halt. MA=146
4., 1If AC = 0000 an error has occurred.
5. Push CONTINUE., Program will run until stopped or until an error

is encountered.
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5. OPERATING PROCEDURE

Same as section 4.
6. ERRORS

6.1 Error Halts and Description

See listing.
6.2 Error Recovery
If it is desired to loop on the test causing the error, replace the

operate instruction preceding the HLT with a JMP to the beginning of the test.

7. RESTRICTIONS

7.1 Starting Restrictions: None
7.2 Operating Restrictions: None
8. MISCELLANEQUS

8.1 Execution Time

256 program loops per second,

9. PROGRAM DESCRIPTION

The program consists of many individual tests. In most cases each
test checks only one function and uses previously tested functions as a basis
for the test. The program counter action is strictly sequential except for
SKIPS. The only JMP instructions used are at the end of the program.

The sequence of testing is as follows:

1. Test all operate functions individually except for rotates.

2, Test TAD instruction.

3. Test ROTATE functions.

4. Group 1 operate instruction test., All possible combinations.
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5. GCroup 2 operate instruction test. All possible combinations.
6. Test AND instruction.
The Teletype bell rings after each 128 program loops.

10. LISTING
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FINSTRUCTION TEST = 1 FALLd vidl S=UEC=63

/INSTRUCTION TEST = 1

/TAPE 1
CLe aQ
agae  zieg ¢
gzz1 5071 JMp 1
ggr2  wwe2 eep2
2228 8483 pa0 s
gg-4  ¢¢00 2
gazs ©eod 2900

2p36 74942 HALT:  HLT
ggal 7208 NOOP . nQP
2312 0922 &

/CONSTANTS AND VARABLES
g0ze 224
8p2d 020D KQdge, VR0
@21 8¢vl Kozsl, ¢ag1
Bg22 gege K@222, 0202
gg23 0824 Ke2gs, 4024
2g24 ero1e KB0id, 2012
2p25 ¢v2¢ K820, 082¢
Be26 o4z KOBE42Z, @240
gg27 71e¢ K@Lg2, <4100
Ba3v  raey Kgaag, 2208
Gp3l 2400 KE4ge,s ©420
gex2 12£7 Kidu2, 1000
2a33 2480 K29W@ds 2000
g234 4¢@p K42p2, 42800
2835 7776 K77764 7776
gg36 7775 K7775%, 77795
gg37 7773 K?7773y 7773
2pal 7767 K7767: 7767
a4l 7757 K7757¢ 7757
8342 7757 K7737, 7737
Bg4as 7677 K7677, 7677
ges4 7577 K7577. 7577
g@4d 7877 K7877¢ 73877
2946 6777 K8777, 6777
8g47 5777 K5777, 5777
gose 3777 K3777, 3777
eesy 7777 K7777+« 7777
2g52 5252 k5252, 5252
pgs3 2525 %2525, 252%
2954 ec@e R6272, 6BBY
apss 7288 K7223, 7800
pps6e  742¢ K7432, 74322
2p57 7009 K760, 7620
2@l 7740 K7743, 77492
Bpel 7768 K7762, 7768
gge2 7778 K77728: 7778
Bges 7774 K7774, 7774
pged4 2083 Kedps. 2083




/INSTRUCTION TESTY - 1

2265
2266
gge’
ggre
2731
gg72
273
2274
8275
6876

e

2227
©i67
€eL7
837
ee77
8177
2377
6777
1777
7702

FALLD

KZ4a7,
KB267
K817
Kea37,
Ked77,
Ke177,
K2377,
K&777,
K1777,
K778,

vi4l

1ga7
2867
aL7
2037
2877
6177
0377
2777
1777
77d¢

3=-DEC=63

9127
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/INSTRUCTION TEST = 1

0144
2145
2146

B147
@158

2153
2152
2153

2454
g15%
2156

@187
P1690
2163
#1642
#1693

2164
0162

2166
P1&7
g17@
2171
2172

2173
P174
#8175
0176
2177

2144

1951
7208
7482

7410
7402

7228
7440
74022

7458
7410
7402

7200
1034
74402
7410
7402

7450
7402

7200
1833
7440
7410
7402

7450
7402
7000
7008
7008

QAL}.;% \1141

#144

/YAD,CLAyn T

STARTs TAQ
CLA
LT

/SKIP TEST
SKP
“L T

/8%a TEST 1
CLA
SZA
HL T

SNaA
SKP
HLT

/SZA TEST 2
CLA
TAD
SZA
SKP
Ml T

SNA
HLT

/SEA TEST 3
CLA
TAD
SZa
SKP
HLT

SNA
HLT
NOP
NOP
QP

J=DEC=-69

s TEST
K7/77

K4ves

K2da#

-~

i

o

9127 PAGE 3

/AC SHQULD=2
/SET SR TQ 7777, CONTINUE

/SKP FALILED

/SZA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL ZERD

/SNA SHOULD NOT HAVE SKIPPED
/AC SHOULD EGQUAL ZERO

/SEA SHOULD NOT WAVE SKIFPED
/AC SHOULD EQUAL 4dpe

/SNA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL 4088

/S2A SHOULD NOT HAVE SKIPPED
/AC SHOULD EQUAL 2202

/SNA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL 2800




ZINSTRUCTION TESTY = 3

poze
g221
2222
g2z3
g2¢4

z2225
p226é

g2a’?
p219
g214
3212
2218

p214
8215

216
2217
g228
2221
gaz2

ga2a2é
p224

8225
2226
@227
2238
9231

2232
2233

L27e

7222
1232
7442
7312
7482

7454
7422

7202
1631
7443
7418
74¢2

7458

7402

7220
10387
7440
7412
7462

745¢
7492

7248
1827
7442
7432
7402
7458
7422

FALLS

#2dd
/SEA

/SEA

/524

/SZa

viel $=DEC=69

TEST 4
CLA
TAD Kivga
SEA
SKP
HLT

SNA
HLT

TEST 5
CLa
TAD K642y
SZA
SKP
HLT

SNA
RLT

TEST 6
CLA
TAD K200
SZ4
SKP
HLT

SNA
HLT

TEST 7
CLA
TAD K@1@0
SZA
SKP
HLT

SNA
HLT

94127 PAGE 4

/S2A SHOULD MOT HAVE SKIPPED
/AC SHOULD EQUAL 180¢

/SNA SKHQULD wAVE SKIPPED
/AC SHOULD EQUAL 1epep

/SZA SKOULD ADT HAVE SKIPPED
/AC SHOULD EQUAL 74w

/SNA SkOULD HAVE SKIPPED
/AC SHOULD EQUAL @4v2

/SZA SkOULD NOT HAVE SKIPPRED
/AC SHOULD EQUAL 2289

/SNA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL 22829

/SZA SrOULD nNOT WAVE SKIPPED
/AC SHOULD EGQUAL 2190

/SNA SHOULD WAVE SKIPPED
/AC SHOULD EQUAL #1882
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/1NSTRUCTION TEST - 1

d234
4232
2236
2237
2249

2241
@242

224%
0244
0245
246
2247

g259
2251

2252
2253
@254
2255
2256

€257
240

2261
YA
2263
3264
2265

g266
2267

7200
1026
7440
7410
7402

7450
7402

7200
1925
74403
7410
7402

7459
7402

7200
1924
7440
7310
7402

7450
7462

7200
1028
7442
7410
7412

7450
7402

PALLC  viel 3-DEC=69

/SEA TEST B
CLA
TAD K¥E£40
SZA
SKP
HLT

SNA
HLT

/S2A TEST 9
CLA
TAD Kgize
SZA
SKP
HLT

SNa
HLT

/SZA TEST 19
CLA
TAD Kd4@310
SZA
SKP
HLT

SNA
Wi T

/SZA TEST 11
CLA
TAD Kuuves4
SEA
SKP
HLT

SNA
ALY
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/SZA SHOULD NOT HAVE SKIPPED
/AC SHOULD EGQUAL 0044

/SNA SHOULD HAVE SKIPPED
/AC SHOULD EGUAL @i4e

/SEA SKOULD NOT HAVE SKIPPED
/AC SHOULD EQUAL @824

/SNA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL #3220

/SEA SHOULD NOT HAVE SKIPPED
/AC SHOQULD EQUAL 2819

/SNA SHOULD HAVE SKIPPED
/AC SHQULD EQUAL BolE

/5ZA SHOULD NOT HAVE SKIPPED
/AC SHOULD EQUAL BOR4

/SNA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL pa@s

)




/INSTRUCTION TEST =«

8279
2271
@272
8273
Q274

8275
2276

2277
2339
2301
2302
0323

AIc4
p3as

8326
2327
#3149
2311

8312
2313
2314
2312
2316

2317
8320
2321
8322
8323

7200
1222
7442
7410
7402

7450

7402

72080
1221
7440
7419
7402

7450
7402

7200
1250
7542
7402

7208
1034
7510
7410
7402

7200
19050
7500
7410
7402

-

i

PALLZ vial

/S2A TEST 12
CLA
TAD
SZA
SKP
ML T

SNA
HLT

/S€A TEST L3
CLA
TAD
SZA
SKP
HLT

SNA
HLT

/SPA TEST &
CLA
TAD
SPA
HLT

/SPA TEST 2
CLa
TAD
SP&
SKP
HLT

/SMA TEST
CLA
TAD
SMA
SKP
HLY

3=DEC=09

KBvgz

Kecel

K3777

K4pga

K$777

9ta7 PAGE 6

/SZ4 SHOULD AOT HAVE SK[PPLD
/AC SHOULD EQUAL 2822

/SNA SHOULD HAVE SKIPPED
/AC SHQULD EGQUAL 2222

/SZA SHOULD NOT HAVE SKIPPED
/AC SHOULD EGUAL 28¢1

/SNA SHOULD <AVE SKIPPED
/AC SHQULD EGQUAL 2201

JSPA SHOULD WAVE SKIPPED
/AC SHOULD EQUAL $777

FSPA SHOULD NOT HAVE SKIPRED
/AC SHOULD EQUAL 4u@e

/SMA SHOULD NOT HAVE SKIFPED
/AC SHOULD EQUAL 3777
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/INSTRUCTION TESY = 1

2324
832>
a32%
2327

2339
4331
2332
2333
A334

2332
2336
3337
B340
341

#3342
2343
2344
2345

2346
D347
2358
2351
0352

0353
354
2355
@356

7242
1454
7502
7402

722¢
1051
7242
7442
7402

7200
1853
7¢4¢
745¢
7422

1253
7048
7449
7402

7200
1852
7842
7458
74¢2

1852
724z
744¢
7482

PALLZ vial

/Sma TEST 2
CLA
TAD
SMA
HLT

/CMA TEST 1
CLA
TAD
CMA
SZA
HLT

/CMA = TAD
CLA
TAD
CMA
SNA
Wi, T

TAD
CMA
SZA
LT

/CMA = TAD
CLA
TAD
CMA
SNA
R, T

TAD
CMA

SZA
HLT

3=DEC=69

K4upe

K7177

TEST 1
K225

K225

TEST 2
K5252

k9252

~

t
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/SMA SHOULD =AVE SKIPPED
/AC SHQULD EGVAL 482

/CMA DID NOT COMPLEMENT AC
/AC SHOULD EGUAL 2a@¢

/TAD QR CMA ERROR
/AC SHOULD EQUAL 5232

/TAD OR CMA ERROR
/AC SHOULD EQUAL 0408

/TAD OR CMA ERROR
/AC SHOULD EGUAL 2525

/TAD OR CMA ERRQR
/AC SHOULD EQUAL 2982




/INSTRUCTION TEST - 1

2337
8362
2361
2362
2368

2364
23355
2366
2387
2372

2371
2372
2373
2374
2375

2376
2377

2422
2421
8422
2423
2424
24cd
2426
2427

2412
2411
2412
8413
241

7288
1451
7248
7448
74¢2

7200
7021
7440
74192
7402

7228
1251
7001
7448
7422

7209
7288
2420

7222
1063
7081
7301
7201
7901
7442
7402

7228
7102
7004
74392
7402

PALL? vidl

/CMA = TAD T
CLA
TAD
CMA
SZA
HLLT

/1AC TEST 1
CLA
1AC
SZA
SKP
HLT

/1AC TEST 2
ClLA
TAD
[AC
SZA
HLT

NQP
nOP

4400

/1AC TEST 3
CLA
TAD
1AC
1AC
1AC
1AC
SZA
AL T

/SEL TEST 1
CLA
CLL
RAL
SZ|
LT

3=DEC=69

EST 3

k1777

K7777

K7774
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/TAD OR CMA ERROR
/AC SHOULD EGUAL 2280

/1AC D1D NOT INCREMENT
/AC SHOULD EQUL geel

/1AC DID NOT INCREMENT
/AC SKOULD EQUAL 200

/1AC NOT INCREMENTING
/AC SHOULD EGUAL @899

/CLEAR LINK
/CLEAR [INK SAFETY

/S# SHOULD HWAVE SKIPPED
/L INK SHOULD EGUAL ZERD



ZINSTRUCTION TEST = 1

410
2416
2417
2427
2421
#4422
2423
2424

d425
2426
2427
0432
0431
2432

2433
0434
2435
2435
2437
2440
244l

720¢
7162
722¢
1434
7444
7434
74180
7402

7200
7ie0
7004
7420
74190
7402

7209
7ie2
7028
1084
7204
7429
74¢2

PALLA viél

/S52L TEST
CLA
i
CML
TAD
RAL
SZL
SKP
Ml T

/SN TEST 1
CLA
cLl
RAL
SNL
SKP
WL T

/SNL TEST 2
CLA
CLL
CML
TAD
RAL
SNL
MLT

3=DEC=69

Kavga

K40y

~
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/CLEAR LINK
/COMPLEMENT LINK

/SET LINK SAFETY

/S#L SHOuLD NUT HAVE SKIPPED
/LINK SHOULD BQUAL ONE

/CLEAR LINK
/CLEAR [ INK SAFETY

/9NL SHOLLD NOT HAVE SKIRPED
/LINK SHOULD BQUAL ZERO

/CLEAR LINK
/COMPLEMENT LIMK

/SET LINK SAFETY

/SNl SHOULD RAVE SKIPPED
/LINK SHOULD EQUAL ONE




/INSTRUCTION TEST ~ 1

2442
2443
2444
2445
D446

2447
8452
2451

2452
2453
2454
2455

2456

2457
2462
2461
8462
2463
2464
24s6%
2466
2467

247¢
2471
8472
473
2474

2475
2476
8477
8500
8523

7200
1234
7004
7420
5254

7120
7430
7402

5257
7020
742¢
7402

5247

7100
7450
7302
7028
7420
7402
7820
7430
7402

7208
1051
7620
7440
7402

7200
7404
7040
7440
7482

PALL2 vidy

/CLL TEST 1
CLA

J-DEC=69 917 PAGE 10

TAD Kédgy

RAL
SNL

/SET LINK

JMP CLL11 /CANNOT SET LINK WJTH RAL

CLL1, CLL
SZL
Wi T

JMP
CLLil, CML
SN
HLT

/TRY A CML

JCLL D10 NOT GLEAR LINK
JLINK SHOULD EGUAL ONE

/SET LINK

' ¥2

/CANNOT SET LINK WITH
/RAL OR CML, CANNOT
/PERFORM CLL TEST 4

JMP CLLL

/CML TEST 1
CMLTLs  CLL
SZL
HLT
CML
SNL
RLT
CML
SEL
ALT
/CLA TEST 1
CLA

/CLL DID NOT CLEAR LINK

/CML D10 NOT SET LINK

/CML Q1D NOT RESET LINK
(OPERATE GROUP 2}

TAD K7777

76¢2

S2A
HLT

/0SR TEST 1
CLA
OSR
CMA
SEA
HLT

/CLA (7622} DID NOT CLEAR 4C
/AC SKOULD EQUAL @207

/0S8R DID NOT SET AC YO 7777
/AC SHOULD=@
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ZINSTRUCTION TEST =~ L PALLS vidl S=UEC=69 9127 FAGE 11

/NOP TEST 1 (UPERATE GhOUP 1)

@532 7209 cLa

2558 710¥ CLL /AC AND LINK EQUAL 2ERO
254 7400 7d08¢ /TEST INSTRUCTION

#5225 7458 SNA

2506 7430 SEL

527 7402 HLT /NQP FATLURE

/AC AND LINK ShOULD BE ZERQ
/NOP TEST 2 (OPERATE GROUP 2)

2510 7200 ClA
2511 Tik0 CLL /AC AND LINK EGUAL ZERO
9512 7400 7489 /TEST INSTRUCT]ON
2513 745p SNA
2514 7430 SEL
2515 7402 KL T /NOP FAILURE
/AC AND LINK SHOULD BE ZERQ
/TAD TEST 1
@516 7200 Cl.A
@517 1859 TAD K3777 /0PERAND 1
p520 1034 TAD K4¥@Y /OPERAND 2
#5214 7040 CMA
@522 7440 SZA
2528 7402 HLT /TAD ERRCR
/AC SHOULD EQUAL P@2e
/TAD TESTY 2
p524 7200 ClLA
@525 1047 TAD K5777 /OPERAND 1
0526 1033 TAD K2008 /OPERAND 2
0527 7040 CMA
2538 7440 SZA
@531 7402 HLT /TAD ERROR
/AC SHOULD EQUAL 2249
/TAD TEST 3
532 7200 CLA
8533 1046 TAD K&777 /OPERAND 1
P534 1032 TAD K1¢@o /OPERAND 2
2535 7049 CMA
2536 7440 SZA
0537 7462 HL T /TAD ERROR
/AC SHOULD EQUAL @opa
/TAD TEST 4
2542 7200 CLA
2541 1045 TAD K7377 JOPERAND 1
@542 1031 TAD Ked@d /OPERAND 2
2543 7049 CMA
2544 7449 SZA
2545 7402 HLT /TAD ERRQOR
/AC SHOULD EQUAL @0V
/TAD TEST 5 ‘
p546 7280 CLA

2547 1044 TAD K7277 /OPERAND 1

L




JINSTRUCTION TEST - 1 PALL1S vidl S=UEC=09 9127 PAGE 11=-1

gss@ 1230 TAD K@ag¥ /OPERAND 2
551 7¢48 CMA

@552 744¢ SZA

@553 74082 HLT /TAD ERROR

/AC SHOULD EQUAL 220e
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/INSTRUCTION TESY - L

2554
2555
2556
2557
256¢
2561

8562
2563
564
8565
2566
2567

578
2571
2572
8573
p574

8575

2576
8577

Bane
2621
2602
26n3
gezd
2625

7222
1243
1227
742
744%
7422

72€02
1042
1926
7647
744¢
7402

7280
1043
1825
7048
744g

7482

7262
7028
pb2e

7208
1842
1824
7048
7440
7482

PALLY vial

/TAD TEST 6
CLA
TAD
TAD
CMa
SZA
RLT

fTAD TEST 7
CLA
TAD
TAD
CMA
SZA
HLY

/TAD TEST 8
CLA
TAD
TAD
CMA
SEA

HLT

nNOP
NQP

«680

/TAD TEST 9
CLA
TAD
TAD
CMa
SZA
HLT

J=DEC-69

K7677
Ke1ad

K7737
KoB42

K7757
Kep20

K7767
K6812

9187 PAGE 12
/OPERAND 1
/0PERAND 2

/TAD ERROR
/AC SHOULD EGUAL Beuv

/OPERAND 1
/OPERAND 2

/TAD ERROR
/AC SHOULD EQUAL BR28

/OPERAND 4
/0PERAND %

/TAD ERRQR
/AC SHOULD EQUAL @d¢e

/OPERAND 1
/O0PERAND 2

/TAD ERROR
/AC SHOULD EQUAL Be#d




/INSTRUCTION TEST = 1

266
Bea7
2612
ge1i
2612
2613

B614
8615
616
2617
2620
gs21

8622
2623
pe24
g625
2626
Bs27

2632
2631
2632
0633
2634
2635
2636

7200
1437
1023
7042
7449
7422

7200
1836
ivez
7840
7442
7402

7200
1235
1021
7040
7440
7422

7200
7122

1234

1234
7430
7442
7422

PALLE  vi41

/TAD TEST 14
CLA
TAD K7773
TAD KREg4
CMA
S£A
HLT

/TAD TEST 11
ClLA
TAD K7775
TAD Ké¥@2
CMA
SZA
WLT

/TAD TEST 12

CLA
TAD K7776
TAD K0Bg1
CMA
SZA
HLT

/TAD TEST 13
ClLA
CLl
TAD K4200
TAD K4vpz
SZL
S2A
HLT

3=DEC=69

9127

/QPERAN]D

/OPERAND

/TAD ERROR
/AC SHOULD EGUAL

/QPERAND
/QPERAND

/TAD ERRQR

/QPERAND
/QPERAND

/TAD ERROR
/AC SHOULD EQUAL

/QPERAND
/QRERAND

/TAD ERROR, AC S
/LINK SHOULD BE

PAGE 13

2e2¢e

HOULD EQUAL ©p2u0
EQUAL ONE,
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/INSTRUCTION TEST = 1

2637
g642
2641
2642
2643
g644
2645

2646
2647
aes50
2651
0652
2653
2654

2659
2656
8657
2662
d661
8862
2663

2664
2esd
B66b
2667
2679
2671
2e72

2673
2674
2675
876
2677
273¢
3721

7202
7120
1094
1233
7432
7442
7462

7228
7120
1955
1232
7430
7442
7402

7200
7iee
1256
1631
7430
7440
7402

72082
7128
1057
1030
7430
7440
7402

7200
7400
1876
1027
7450
7448
7482

72¢v
7489

PALLG vi4l 3=DEC69

/TAD TEST 14
CLA
CLi
TAD Kowpy
TAD K2229
SEL
SZA
HLT

/TAD TEST 15
CLA
cLL
TAD K7¢08
TAD K199
SEL
SZA
HLT

/TAD TEST 16
CLA
CLL
TAD K7480
TAD KP4gp
S2L
SZA
RLT

/TAD TEST 17
CLA
cLL
TAD K7600
TAD Ku2ee
SZL
SZA
HLT

/TAD TEST 18
Cla
cLL
TAD K7722
TAD K100
SZL
SZ2A
HLT

JTAD TEST 19
CLA
CLL

~

9427 PAGE 14

/O0PERAND 1
/JOPERAND 2

/TAD ERROR, AC SHOULD EQUAL
/LINK SHOULD EQUAL OME

/OPERAND 1
/OPERAND 2

/TAD ERROR, AC SA0ULT EQUAL
/LINK SHOULD EQuUal ONE

/0PERAND 1
/OPERAND 2

/TAD ERROR, AL SHOULG EQUAL
/LINK SHOULD EQUAL ONE

/QPERAND |
/0PERAND 2

/TAD ERRQR, AC SHOULD EQUAL
/ZLINK SHOULD EQUAL ONE

/O0PERAND 1
/OPERAND 2

/TAD ERROR, AC SHQULD EQUAL
ZLINK SHOULD BGQUAL ONE

2000

oaee

200

Lees




/INSTRUCTION TEST = 1

2724
2725
2706
8727
Q712

@743
@712
2713
2714
271%
8716
2717

2720
2721
e722
8723
8724
8725
8726

@727
2730
2734
2732
2733
2734
8735

2736
8737
8740
2741
g742
2743
g744

1969
1926
74380
7440
7402

7200
7100
1861
1025
7430
7340
7402

7200
7100
1p62
1024
7430
7340
7382

7200
7100
1663
1223
7430
7349
7402

7200
7100
1835
1822
7430
7440
7402

PALL?  vid4l  3=DEC=69
TAD K7742
TAD K042
SEL
SZA
WL T

/TAD TEST 20
CLA
CLi
TAD
TAD
SEL
SZA
HL T

/TAD TEST 21
CLA
cLl
TAD
TAD
SEL
SZA
HLT

/TAD TEST 22
CLA
Cll
TAD
TAD
SE
SZA
LT

/TAD TEST 23
CcLa
ClL
TAD K7776
TAD KB@@2
SZ|
SZA
MLY

K776
KeB22

K7772
Kegio

K7774
K024

9ta7 PAGE 15

ZOPERAND 1
/OPERAND 2

/TAD ERROR, AC SHOULD EGUAL 2282
/LINK SHOULD EQUAL ONE

/O0PERAND 1
/OPERAND 2

/TAD ERROR, AC SHOULD EQUAL 288
/LINK SHOULD EQUAL ONE

/0PERAND 4
/QPERAND 2

/TAD ERRQR AC SHOULD EQUAL 2edik
/LINK SHOULD EBUAL ONE

/0PERAND 1§
/0FPERAND 2

/TAD ERROR, AC SHOULD EQuAl 28@¢2
/L INK SHOULD EQUAL ONE

/QPERAND 1
¢QPERAND 2

/TAD ERROR, AC SHOULD EQUAL 20828
/LINK SHOULD EQUAL ONE



/INSTRUCTION TEST - 1

2745
6746
@747
2759
2751
8752
0758

2754
8755
8756
8757
g760@
2761
2762
2763

g764
D769
2766
g767
B877¢
2774
2772
ar7$
2774

0775
8776
@777

1009
1001
ige2
1088
1204
160%
1026
1007
1910

7208
7180
1051
1621
7430
7440
7402

7209
7100
7029
1054
1034
7420
7440
7462

7208
7100
1650
1033
1833
7948
7426
7440
742

7000
vl
7008
1000
7208
7100
1047
1632
1832
7040
7420
7440
7402

~

N

PALLYS w141 J=DEC=-69 917 PAGE 16

/TAD TEST 24
CLa
CiL
TAD K/777 /OPERAND 1
TAD KOEBQL FOPERAND 2
SEL
SZA
WL T /TAD ERROR, AU SHQULD EQUA| ©v0oQO
ZLINK SHOULD EGUAL ONE
/TAD TEST 25
CLA
CLL
cHL,
TAD K4v@o JOPERAND 1
TAD K4@go /OPERAND 2
SNL
S2A
WL T /TAD ERRQR, AC SHCULD EQUAL 2820
ZLINK SHOULD EQUAL ZERQ
/TAD TEST 26

CLA
CLL
TAD K3777 /OPERAND 1
TAD K2%ge JOPERAND 2
TAD K2upe /OPERAND 3
CMA
SNL
SZA
HLT /TAD ERROR, AC SHOULD EQUA| @P2B
ZLINK SHOULD EQUAL ZERO

NQP
NOP
NOP

#4020

/TAD TEST 27
CLA
CLl
TAD K5777 /OPERAND 1
TAD K10BY /OPERAND 2
TAD Kikgo /OPERAND 3
CHMA
SNL
SZA /TAD ERRQR AC SHOULD EQUAL @2@2
HLT /LINK SHOULD EQUAL ZERQ




1011
1212
1013
1214
1215
1016
1217
1020
1g21

1g22
1223
1024
la25
la26
1g27
1039
1231
1032

1933
1834
13:9
1256
1037
1242
ip4l
lp42
1243

1244
1045
1046
1247
1050
1051
1052
1053
ip54

7269
7100
1846
1033
1033
704¢
7420
7440
7402

7200
7100
1045
193¢
1030
7040
7420
7440
7402

7200
7100
1044
1227
1027
7840
7420
7440
7422

7200
7100
1043
1826
1826
7040
7420
7440
7402

LINSTRUCTION TEST - 1

PALLY vial 3=DEC=69

/TAD TEST 28
CLA
CLL
TAD K6777
TAD K24g@
TAD K420
CMA
SN
SZA
HLT

/TAD TEST 29

CLA

cLL
TAD K7377
TAD KUZ2B2
TAD KP200
CMA
SNL
SZA
LT

/TAD TESY 30
CLA
cLL
TAD K7577
TAD K2122
TAD K@1g2
CMA
SNL
SZA
HE T

/TAD TEST 31
CLA
Chl
TAD K7677
TAD KDZ4D
TAD KED42
CMA
SNL
SZA

HL T

147 PAGE 17

/OPERAND 1\
/OPERAND 2
/QPERAND 3

/TAD ERROR, AC SHOULD EGUAL v@©®
/LINK SHOULD EQUAL ZERD '

/OPERAND 1
/O0PERAND 2
/0PERAND 3

/TAD ERROR, AC SOULD EQUAL 228¢
/LINK SHOULD EQUAL ZERO

/0PERAND 1
/0PERAND 2
/QPERAND 3

/TAD ERROR, AC SHOULD EGUAL 2082
/LINK SHOULD EQUAL ZEROD ‘

/OPERAND 1
/OPERAND 2
/OQPERAND 3

/TAD ERROR; A§ SHOULD EQUAL 29982
/LINK SHOULD EQUAL ZERO o

{j)



e

ZINSYRUECTION TEST = 3

1259
1256
1257
1060
1261
1262
1763
1244
1265

1066
1¢67
1¢7¢
1271
1272
12738
ie74
1a7%v
1z76

1277
1129
1121
i172
11¢3
1104
11¢59
1126
1187

111¢
1114
1112
1113
1114
1115
1146
1117
1128

7208
7128
1042
1925
1625
7049
7429
7442
7422

7200
7108
1041
1024
Tv24
7¢4%
742%
7442
74¢e

7260
7108
1¢4¢
1023
1023
7042
7428
744%
7402

7289
7180
1837
122
1022
7240
7429
7449
7482

PALLY viél 3=DE

/T80 TEST 32
CLA
CLi
TAD K7737
TAD K429
TAD Ké¥2e
CMA
SHNL
SZA
HL T

/TAD TEST 33
CLA
CLi
TAD K7757
TAD Ké¥1d
TAD KEévle
CHA
<, (‘;L
SEA
HLT

/TAy TEST 34
CLA
CLi
TRD K7767
TAD K224
TAD KR2Z4
CMA
SNL
S2A
LT

/TAD TEST 35
CLA
Ll
TAD K7773
TAD KDE22
TAD KBER2
CMA
SHL
SZA
HL Y

-~

$137 PAGE 18

/OPERAND 1
/OPLRAND 2
/OPERAND 3

/TAD ERROR, AC SHOULD EGLAL 2822
/LINK SHOULD ECQUAL ZERD

/OPERAND 1
/OPERAND 2
/QRERAND 3

/TAD ERROR, AC SHOULD EQUAL daue
ZLINK SHOULD EGQUAL ZERD

/OPERAND 1
/0PERAND 2
/O0PERAND 3

/TAD ERROR, AC SHOULD EGUAL ©@nd
/L 1Nk SHOYLD EQUAL ZEROD

/OPERAND
/QPERAND 2
/0PERAND 3

/TAD ERROR, AC SHOULD EQUAL 22382
ZLINK SHOULD EGQUAL ZERQ




/71NSTRUCTEON TEST = % PaLic vi4l I=DEC=69 9127 FAGE 19

/TAD TEST 36

1121 7220 CLA
1122 71e9 CLi
11238 1886 TAD K7775 /QPERAND 1
1124 1R21 TAD KEEg@L /OPERPAND 2
1125 1021 TAD Kool /OPERAND 3
1126 7240 CTMA
1127 7428 SNL
1132 7430 SEL
1131 7462 HLT /TAD ERROR, AC SHOULD EQUAL 2829
/LINK SHOULD EQUAL ZERD
/RAR TEST 1
1132 72@e¢ CLA
1133 71@e SLL
1134 1¢21 TAD Kevgl /ROTATE PATTERN
113%  7¢lr FAR
1136 747 SNL
1137 74¢. LY /RAR FAILED, LINK DROPPED A BIT

/LINK SHOULD EQUAL A ONE
ZRAR YiaT ¢

1140 Feéwv SLA

1141 73140 Tl

1142 192 o0 Kded /ROTATE PATTERN

1143 74l AN

1144 yué. SE¢

1145 7402 HLT /RAR FAILED, AC PICKED UP A BIT

/A ONE IN AC EQUALS THE P[CKED UP BIT
/RAEG TEST 3

1146 7220 CLA

1147 7120 cuL

1154 1020 TAD Kée@e /JROTATE PATTERN

1151 7019 GAR

1152 7430 SEL

1153 7402 HLT /RAL FAILED, LINK PICKED UP A BIT

/LINK SHOULD EQUAL ZEROQ



~ ~

ZINSTRUCTION TEST = 1 PALLZ V14l JeDECat9 9147 FAGE 20
FRAR TES) ¢
1154 72¢¢ CLa
118% 7128 SLL
1156 7e20 CHML
1157 1s2¢ TAD Kiwdd /ROTATE PATTERN
1168 7¢1é RAR
1161 7430 SEL
1162 7482 HLT /RAR LINK PICKED UP A BIT
/LINK SHOULD EQUAL ZERD
/RAR TEST 5
1168 7282 CLA
1164 7i2@ cLl
116% 7828 CML
1166 1¢51 TAD K7777 /ROTATE PATTERN
1167 7918 RAR
1178 7842 CMA
1171 7448 SEA
1178 74¢2 HLT /RAR FAJLED AC DRIPRED A BJT
/A ONE IN AC EQUALS THE OROPPED BIY
1173 veee NOP
1174  7eRe NOP
1175 véde NOP
1176 788¢ NOP
1177 7e¢de NOP
1208 €120
/RAR TEST 6
1268  TeuE CLA
12314 7iee ClLb
12u2 7e2e CML,
1223  1¢E2 TAD KREQR /ROTATE RATTERN
1224 7¢1¢ RAR
12¢% 1850 TAD K777
12¢6 7242 CMA
1207 745¢ SNA
1210 7489 SZ|
1211 7422 HLT /RAR FAILED AC AND LINK
/SHOULD EQUAL BBBE
/RAR TEST 7
1218 72¢2 CLa
121%  7iew cLL
1214 1834 TAD K42pd /ROTATE PATTERN
1215 7912 RAR
1216 1447 TAD K2777
1217 70432 CMA
1222  748% SNA
1221 743¢ SE|
1222 74e2 HLT /RAN FAILED AC AND LINK SHOULD

FEQUAL ©208




ZINSTRUCTION TEST =

[y g e T

1223
1224
1225
1226
1e27
1232
1231
1232
1233

1234
1235
1236
1237
1249
1241
1242
1243
1244

1245
1246
1247
1252
1251
1252
1259
1254
1235

72¢8
7168
1833
7019

1046

7040
7452
7438
74@2

7202
7160
1632
7210
1045
794
7452
7430
74c2

72E0
7120
1631
7012
1944
7248
7asg
7438
7402

1 PAL1Z V14l 3=DEC=69

/RAR TEST 8
CLA
cLL
TAD K2Dee
RAR
TAD K6777
CMA
SN
S2|
ML T

/RAR TEST 9
CLA

CLL
TAD Kidge
RAR
TAD K7377
CMA
ENA
SZL
MK

/RAR TEST 12
CLA
CLL
TAD Kb4®Q
RAR
TAD K75%77
CHMA
SNA
SZL
HET

9137 PAGE 21

/ROTATE PATTERN

/RAR FAILED AC AND LINK SHOULD
/EQUAL 9228

/ROTATE PATTERN

/RAR FAJLED 40 AND LINK SHOULD
/EQUAL BGBZ

/ROTATE PATTERN

/RAR Fa]LED AC AND LINK
/SHQULD EQUAL BR2éD



-

S

ZINSTRUCTION TEST = 1§

1256
1257
1262
1261
1262
1263
1264
1265
1266

1267
1272
1271
1272
1273
1274
1275
1276
1277

1300
1304
1322
1323
1374
1305
1326
1327
1310

7200
7100
1630
7010
1243
7049
7450
7430
7402

7200
7168
1227
7040
1842
7842
7458
7430
7482

7200
7100
1026
7018
1841
7040
7450
7430
7402

PaL1e V14l 3=DEC-69

/RAR TEST 11
CLA
cLi
TAD

RAR

TAD K7677

CMA

SNA

SE

HLT

KE222

/RAR TEST 12
CLA
Chi
TAD K@122
RAR
TAD K7737
CMA
SNA
SZ|,
HLT

/RAR TEST 13
CLA
CLL
TAD KU4i
RAR
TAD K7757
CMA
SNA
S2L
H, T

-~

gia7 PAGE 22

/ROTATE PATTERN

/RAR FATLED AC AND LINK
/EQUAL 02022

/ROTATE PATTERN

/RAR FALLED AC AND LINK
/SHOULD EQUAL P88

/RQTATE PATTERN

/RAR FAILED AC AND LINK
/SHOULD EQUAL @oa2




38nvyd
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®

AINSTRLETION TEST = 1

1311
1312
1313
1314
1315
1316
1317
1329
1321

1322
1323
1324
1325
1326
1327
1332
1331
1332

1333
1334
1335
1336
1337
1348
1341
1342
1343

1344
1345
1340
1347
1382
1351
1352
1353
1354

7298
7120
1225
7218
1240
y24e
7450
743¢
7402

7208
7129
1424
7018
1037
7842
7458
7430
7402

7200
7408
1923
7812
1938
7543
7452
7458
7402

7208
7128
1022
7910
1835
7048
7459
7438
7402

PaLL1Y v14l 3=DEC~69

/INSTRUCTION TEST 1

/TAPE 2

/RAR TEST 14
CLA
cLi
TAD
RAR
TAD
CMA
SNA
82
HLT

/RAR TEST 15
Cl.A
CLL
TAD
RAR
TAD
CMA
SNA
SZL
HLT

Kee20
K7767

K10

K7773

/RAR TEST 16
CLA
CLl
TAD
RAR
TAD
CMA
SNA
SZ|
ML T

KOP24
K7775

/RAR TEST 17
CLA
cLl
TAD Koip2
RAR
TAD
CMA
SNA
SZL
WLT

K7776

-~
9127

PAGE 24

/ROTATE PATTERN

/RAR FAILED AC AND LINK
/SHOULD EQUAL 2@dn

/RQTATE PATTERN

/RAR FAILED AC AND LINK
/SHOULD EQUAL €000

/ROTATE PATTERN

/RAR FAJLED AC AND LINK
/SHOULD EQUAL 0208

/RQTATE PATTERN

/RAR FAILED AG AND LINK
/SHOULD EQUAL £@o0




1355
1356
1357
1362
1361
1364
1363
1364
1365

1366
1367
1379
1371
1372
1373

1374
1379
1376
1377

1420
1421
1422
1408
1474
14¢5

1406
1427
1419
1441
14312
1413

1414
1415
1416
1417
1428
1424
1422

JINSTRUCTION TEST = 1

7200
7108
1921
7019
1251
7640
7452
7428
7402

7200
7108
1822
7012
7420
7402

7000
7020
70¢0
7028
1400

7200
7100
1020
7912
7448
7492

7280
7109
192¢
7812
7430
7402

7208
7ice
7022
1920
7412
7438
74¢2

RALLZ viél 3-0EC~69

/RAR TEST 18
CLA
CLL
TAD K@i
RAR
TAD K7777
CMA
SNA
SNL
sLT

/RTR TEST 4
CLA
oLl
TAD K022
RTR
SN,
WLT

NOP
NQP
NQP
NQP

€422

/RTR TEST 2
ClLA
CLL
TAD K@vge
RTR
SZA
HLT

/RTR TEST 3
ClA
CLi
TAD KOELEL
RTR
SEL
HLT

/RTR TEST 4
CLa
cLi
ML
TAD Keeau
RTR
SE|
AL T

$137  PAGE 25
/ROTATE PATTERN

/RAR FAILED AC AND LINK
/SHOULD EQUAL 2020

/ROTATE PATTERN

/RYR FAILEQ LINK DROPPED
/A BIT LINK SHOULD EQUAL A ONE

JROTATE PATTERN

/RTR FAJLED AC PICKED UP A BIT
/A ONE IN AC EQUALS THE PICKED UP BIT

/ROTATE PATTERN
/RTR LINX PJCKED UP A BIT
ZLINK SHOULD EQUAL BERD

/ROTATE PATTERN

/RTR L IaK PICKED UP A BIT
/LINK SHOULD EQUAL ZERO

&




s

e

FINSTRUCTION TEST = 1

1428
1424
1425
1426
1427
1438
1431
1432

1433
1434
1435
1436
1437
1442
1441
1442
1443
1444

1445
1446
1447
1452
1451
1452
1453
1454
1453

1456
1457
1462
1461
1462
1463
1464
1465
1466

7282
7108
728
1251
7¢12
YA LY
7443
7422

72¢e
7100
7220
1822
7412
1847
7042
7450
7432
7402

7222
7148
1634
7212
1246
7048
745¢
7438
7482

7262
7182
1833
7912
19045
7242
7452
7438
7402

FaL1a vial

/RTR TEST 5
CLA
CLL
oML
TAD
RTR
CMA
SZA
HL T

/RTR TEST 6
CLA
CLL
CML,
TAD
RTR
TAD
CMA
SNA
SZ|,
HLT

/RTR TEST 7
CLA
cll
TAD
RTR
TAD
CMA
SNA
SZL
HLT

/RTR TEST 8
GLA
Ll
TAD
RTR
TAD
CHA
SNA
S2L
HLT

SmEC=69

K7777

Kepay

K5777

K402
K6777

K20oo
K7877

-

R

9127 PAGE 26

/ROTATE PATTERN

/RTR AC OROPPED A BIT A ONE IN
/AC EQUALS THE DROPPED BIT

/ROTATE PATTERN

/RTR FAILED AC AND LINK
/SHOULD EQUAL @290

/RQTATE PATTERN

/RTR FAJLED AC AND LINK
/SHOULLD EQUAL ©@2@

JROTATE PATTERN

/RTR FAILED AC AND L1Ink
/SHOULD EQUAL ¢392




ZINSTRUCTION TEST =

14a7
147¢
1471
1472
1473
1474
1475
1476
1477

1522
1571
1522
1563
1524
1575
1526
15¢7
1519

1511
1512
1519
1514
1515
1516
1517
1522
1521

1522
1523
1524
1523
1520
1527
1530
15314
1532

78¢2
7148
1082
7212
1444
7¢4k
745¢
7430
7402

720¢
7100
1833
7812
1043
7640
7452
743¢
7422

72082
7108
187
7e1e
1242
7240
7452
7433
7482

72¢0
7109
1827
7412
1441
7248
7450
743¢
7392

PaLL2 vidl

/RTR] TEST G
CLa
Cht
TAY
RTR
TAD
CMa
SNA
SEL
“LT

/RYR TEST 14
Cla
(R
TAD
RTR
TAD
CMA
SNA
SEL
HLT

/RTR TEST 11
cLA
CLL
TAD
RTR
TAD
CMA
SvaA
SEL
Hl T

/RT] TEST 412
Cla
CLi
TAD
RTIR
TAD
CMA
SNA
SEL
HLT

J=DEC=63

K199z

K7277

KB4g2

k7677

Ke20g

K7737

Kaliea
K1757

a7 PAGE 27

/ROTATE PATTERN

/RTR FALLED AL AND LINK
/SHOULD EQUAL 9P2¢

/ROTAATE PATTERN

/RTR FAILED AC AND LINK
/SHOULD EQUAL voeR

JROTATE PATTIRN

/RTR FATLED 40 AND LINK
/SHOLLD EQUAL ddee

/ROTATE PATTERN

/RTR FAILED AC AND LINK
/SHOULD EQUAL @228



)

F1STRUCTION TEST = L

15338
1534
1535
1536
1537
15442
1541
1542
1543

1544
1549
1546
1547
1552
1551
1552
1553
15%4

1555
1556
1557
1569
1561
1562
1563
1564
1565

1566
1567
157¢
1571
1572
1578
1574
1575

7208
7190
1026
7¢342
1449
7640
7450
7438
7402

7200
7160
1625
7012
1237
7040
7450
7430
7402

7208
7108
1024
7012
1836
7042
7459
7480
7402

7320
19238
7812
1035
7042
7450
7432
7402

PALLS  vidl S=DEC=t9

/RTR TESY 13
CLA
Clb
TAY KOW4Q
RTR
TAD K7767
OMA
SNA
SZL
Wi T

/RTR TEST 14
CLA
cLL
TAD K929
RYR
TAD K7773
CMA
SNA
S|
HLY

/RTR TEST 15
ClA
cLL
TAD Kie1o
RTR
TAD K7775
CMA
SNA
SEL
ML T

/RTR TEST 16
CLA CLL
TAD KoWp4
RTR
TAD K7776
CMA
SNA
SEL
WL T

~

9127 PAGE 28

/ROTATE PATTERN

/RTR FAJLED AC AND LINK
/SH0ULD EQUAL @929

/ROTATE PATTERN

/RTR FAILED AU AND LINK
/SHOULD EQUAL 2240

JROTATE PATTERN

/RTR FATLED AC AND LINK
/SHQULD EQUAL ©BaR

/ROTATE PATTERN

/RTR FALLED AC AND LINK
/SHOULD EQUAL ©@od




/INSTRLETION

Tgs* -
1876 T7LEZ
1877 723¢2

1640
1632 7222
leed 71¢@
1622 1422
1678 7412
1624 74582
1625 742¢
1676 7402
1627 7222
16312 7188
1611 1221
1612 78312
1613 1250
1614 7¢42
1615 7458
1616 7432
1617 7482
162¢ 7eud
1621 7198
1622 1934
1623 7484
1624 7439
1625 7442
1626 7402
1627 7208
1638 7id¢
1631 1228
1632 7284
1638 7420
1634 7442
1635 7482

1

PALL.

#1647

/RTR

/RTR

/RAL

/RAL

vi41 3=DpC-69

AR
ige

TEST 17
LA
CLi
TAD K¥Y@2
RTR
LY
SN,
HLT

TEST 18
CLA
CLL
TAD Kiekpl
RTR
TAD K3777
LMA
SNA
SEL
ml T

TEST 1
CLa
CLi
TAD Ké4¥g2
RAL
SEL
SZA
HLT

TEST 2
CLA
CLL
TAD KEPRS
RAL
SNL
SZA
HLT

Ri27 PAGE 29

/ROTATE PATTERN

/RTR FAILED, AC SHOULD EQUAL
/238%, LINK SHQULD EQUAL ONE

JROTATE PATTERN

/RTR FAILED, AC AND LINK
/8HOuLD BE ZERQ

/ROTATE PATTERN

/RAL FAILED, AC SHOULD EGUAL @800
ZLINK SHOJLD EGUAL ONE,

/ROTATE PATTERN

/RAL FAILED, AC SHOULO EQUAL 2089
/LINK SHOULD EQUAL ZERQ



&

ZINSTRyUCTIO, TEsT -

1636
1537
164<
1641
1642
1643
1644

1645
16496
1647
1652
1651
1632
18538
1654

1655
16558
1657
1662
1661
1662
1663
1654
1665

1668
1667
1672
1671
1672
1673
1674
16753

7222
712¢
7¢20
1227
7824
7488
7422

7228
7129
7428
1251
7224
Te4¢
744¢
7422

7208
710¢
1233
7024
1¢59
7¢40
7450
7438
7412

7220
7102
1832
7604
1247
7942
744¢
7402

1

PALLZ vial

/RAL TEST 3
CLA
Cli
CML
TAD
RAL
SEL
HLT

/RAL TEST 4
CLA
CLiL
CML
TAD
RAL
CMA
SEA
HL T

/RAL TEST 5
CLA
CLL
TAD
RAL
TAD
CMA
SNA
SEL,
HLT

/RAL TEST 6
cLA
cLL
TAD
RAL
TAD
CMA
SZA
HLT

3=DEC=07

K20BD

K7777

K2vge
KS777

Ki2g2
K5777

£

~

9147 PAGE 30

/ROTATE PATTERN, Lluk=]l

/RAL FATLURE, AC SHOULD EQUAL @221
/LINK SHOULD EGQUAL ZEROQ

/ROTATE PATTERN, LInNK=1

/RAL FAILURE, LINK SHOULD EQUAL ONE
/AC SHOULD EQUAL 2uee

/RQTATE PATTERN

JRAL FAILURE, AC SHOULD EQUAL B0
/LINK SHOULD EQUAL ONE

/ROTATE PATTERN

/RAL FAILURE, AC SHOULD EQUAL ve@u®
/LINK SHOULD EQUAL ZEROQ




/INSTRUCTION TEST - 1

1676
1677
172%
1721
1772
1723
1774
1725
1726

1727
1712
1711
1712
1713
1714
1715
1716
1717

172¢
1721
1722
1723
1724
1725
1726
1727
1732

7200
7142
1231
7804
1246
7242
7452
7430
7402

72088
7128
1832
7¢904
1045
78492
7459
7432
7402

720%
7122
1027
7004
1244
7042
7459
743¢
7422

PALLS vial

/RAL TEST 7
CLa
cLL
TAD
RAL
TAD
CMA
SNA
SEZL
LT

/RAL TEST 8
CLA
cLL
TAD
RAL
TAD
CMaA
SNA
SZL
HLT

/RAL TEST 9
CLA
CLL
TAD
RAL
TAD
CMA
SNA
SEL
LT

S=DEC=0Y

K©4Y

K6777

Kié2a

K7877

Ke122

K7577

9127 PAGE 31

/RQTATE PATTERN

/RAL FAILURE, AC SWOULD EGUAL 2802
/LINK SHOULD EQUAL ZERO

/ROTATE PATTERN

/RAL FAILURE AC SHOULD EQUAL @ébo

/LINK SHOULD EGUAL ZERQ

/ROTATE PATTERN

/RAL FAILURE AC SHOULD EGUAL Bd¢@2
/LINK SHOULD EQUAL 2ERQ



=)

sINSTRUCTION T

1733
1732
1733
17234
1732
1735
1737
1742
174%

1742
1743
1744
17452
1746
1747
1752
1781
1752

1753
1754
1755
17586
1757
1762
1761
1762
1763

S

7222
7RE2
1£26
7444
1648
7442
745¢
7432
7422

72¢2
7128
1225
7864
1242
7242
74508
7486
7422

7228
7128
1424
7434
1441
7442
745§
7432
7482

-

o o

PALLY ¥4l 3=DEC=69 §127 PAGE 32

/5AL TEST 12
CLA
(NN
TAD KUB4Y /ROTATE PATTERN
RAL
TAD K/077
CMA
ShA
SZL /RAL FAILURE AC SHOULD EQUAL 2¢@¢
HLT /U1K 5=0ULD ECUAL A ZERC
/RAL TEST 11
CLA
CLL
TAD KBU29 /ROTATE PATTERN
RAL
TAD K7737
CMA
SNA
SEL /RAL FALLURE AC SHOULD EQUAL ©6@uw
WL T /LINK SHOULD EQUAL A ZERO
/RAL TEST 12
ClA
ClL
TAD K010 JROTATE PATTTERN
RAL
TAD K7757
CMA
SNA
SZL /RAL FAILURE AC SHOULD EQUAL @9
HLT /LINC SHOULD EQUAL A ZERC
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- L PALLS

vi4l

/RAL TESTY 13

IRAL

/RAL

A N
o 5 N P T

/RAL

#2403

CLA
Chi
TAPr
RAL
TAD
CHMA
SN
SEL
LT
NP
MOR
S0P

TEST 14

CLA
Cli
TAu
RAL
TAD
OMA
SNA
S2
HLT

TEST 15

CLA
CLi
TAD
QAL
TAD
CMA
SNA
SZL
HLT

TEST 16

CLA
Chi
ML
AL
TAQ
CHA
SNA
SZL
HLT

KLdia

K67

KELg2

K7773

kdual

K7775

k7776

5187 PAGE 33

JROTATE PATTERN

sRAL FAILED 4C SHOuLD EQuAL wied
/LINA SHOULD BIUAL A ZERC

/ROTATE PATTERN
/RAL FAILED AC SHOULD EQUAL 2Bd¢
ZLINK SHOULD EQUAL A ZERO

/ROTATE PATTERN

JRAL FATLED aC SHOULD EQuAL 28029
/L ]NK SHOULD EGUAL ZERO

JRAL FAILED AC SHOULD EGUAL 20¢0@
ZLINS SHOULD EGUAL 2ERQ

®



g—)

FUNSTRUCTION TEST = 1

2233
2234
2235
2838
2937
2042

2041
2042
2349
2044
2345
2046

_a47
2p50
2¢51
2p52
2953
2054

2855
2056
2957
2262
2961
2062
2263

7244
7140
1233
7006
7420
7402

7222
7100
142¢
7026
7440
7402

7208
7128
1924
7026
7430
7422

7289
7100
7029
1820
7¢06
7430
7682

PALL?

/RTL

JRTL

/RTL

/RTL

ZLA
Skt
TAD
=TL
SN
LT

TEST 2
CLA
CLL
TAD
RTYL
SZA
W T

TEST 3
CLA
cLL
TAD
RTL
SEL
HLT

TEST 4
CLA
CLL
CML
TAD
RYL
SEL
HLT

K2d33

Kogge

K2222

-~

5127 PAGE 34

/RTL LINK DROPPED & BIT
/LINK SHOULD EGQUAL A ONE

/ROTATE PATTERN -

/RTL AC PICKED UP A BIT
/A OKE In AC EQUALS THE PJICKED UP

JROTATE PATTERN
/RYL LINK PICKED UP A BIT
/LINK SHOULD EQUAL ZERD

/ROTATE PATTERN

/RTL FAILURE, LINK PICKED UP A BIT
/LINK SHOULD EQUAL A Z2ERDC




/INSTRUCTION TEST =

2244
2869
2266
2067
2074
2g71
2072
2073

2874
2¢7%

-2876

2a77
21230
2121
2192
2133
2124

2125
2126
2107
2119
2111
2112
2113

2114
2115
2116
2117
2129
2121
2122
2123
2124

“
+

PALLZ

IRTL

/RTL

/RTL

/RTL

vidl

TEST 3
ZLA
MR
cML
TAD
RYTL
CMA
S#A
LT

TESTY &
CLA
CLL
TAD
RTL
TAD
cMa
SNA
SEL
HLT

TEST 7
CLA
Ll
TAD
RTL
SNA
SNL
HLY

TEST &
CLA
ChL
TAD
RTL
TAD
CHA
SNA
SEL
Wi T

J=UE =69

K7777

K293a

K102p

k3777

F127 PAGE 35

/ROTATE PATTERN

/RTI. FAILURE, URQPPED 4 B[?

/ROTATE PATTERN

/RTL FAJLED AT AND LINK SHOULD EQUAL veda

/ROTATE PATTERN

/RTL FAILED AC AND LINK SHOULD
/EQUAL 2eepg

/ROTATE PATTERN

/RTL, FAILED AC AND LINK S$H40OULD
(EQUAL 2000



e

|
 /INSTRJCTION TEST =
]

2122
2126
2127
2134
2131
2132
2133
2134
2135

2136
2137
2149
2141
2142
2143
2144
2145
2146

2147
215¢
2151
2152
2153
2154
2155
2156
2157

2160
2161
2162
2163
2164
2165
2166
2167
2178

722
7ise
1831
7006
1047
7048
745¢
743¢
7402

7220
7120
1032
7006
1846
7642
7452
743¢
7492

7200
7100
1027
7226
1945
7040
7450
7452
7402

7208
7108
1026
7€96
1044
7040
7458
7432
7402

~

S B

i PALLS vi41l 3=DEC=69 91487 PAGE 36

/3t TEST 9
CLA
CLl
TAD
RTL
TAD
CHA
SNA
S2L
LT

/RTL TEST 1¢

CLA
CLL
TAD
aTL
TAD
CMA
SNA
SZi.
aLT

/RYL TEST 11

Cha
CLL
TAD
RTL
TAD
CMA
SNA
SZL
HLT

/RTL TEST 12

CLA
CLL
TAD
RTL
TAD
CMA
SNA
SEL
HLT

KE4aaa

K777

K2y

K6777

Ke@ige
K7$77

KBB4

K7577

/ROTATE PATTERN

/RTL FAILED AC AWD LINK SHOULD
/EQUAL ZERO

/ROTATE PATTERN

/RYL FAILED AC AND LINK SHOULD
/EQUAL, Q000

/ROTATE PATTERN

/RTL FAILED AC AND LINK SHOULD
/EQUAL 2822

/ROTATE PATTERN

/RTL FAILED AC AND LINK SHOULD
/EQUAL 2020




ZINSTRUCTION TEST = 1

2171
2172
2173
2174
21758
2176
2177

2228
2281
2222
2223
2224
2282
2206
22¢7
2214

2211
2212
2. 2213
2214
2215
2216
2217
2e2¢
2221

2222
2223
2224
2223
2226
2227
2238
2231
2232

2233
2234
2233
2236
2237
224¢
2241
2242
2243

768K
7022
7200
7¢02
7388
7000
7208
2200

7200
7100
1925
7006
1943
7444
745¢
7430
7402

7228
7120
1024
7006
1042
7642
7450
7430
7402

72288
7180
1923
7226
1941
7040
7450
7430
7402

7200
7180
1822
7826
1242
7449
7459
7432
7402

PALLY vi4l 3=DEC=69

“OP
QP
'\_!Qp
NQP
nQP
NP
NOR
#2224
ZRTL TEST 13
CLA
CLl
TAD Kbé29
RTL
TAD K7677
CMA
SNA
SEL
H, T

/RTL TEST 14
CLA
CLL
TAD KPO12
RTL,
TAD K7737
CMA
SNA
SZ
HLT
/RTL TEST 15
CLa
CLi
TAD K224
RTL,
TAD K7757
CMA
SNA
SEL
LT

/RTL TEST 16
CLA
eLl.
TAD KB4p2
RTL
TAD K7767
CMA
SNA
SEL
HLT

9127 PAGE 37

/ROTATE PATTERN

JRTL FAILED AC AND LINK
/EQUAL 28068

/ROTATE PATTERN

/RTL FAILED AC AND LINK

/ROTATE PATTERN

/RYL FAILED AC AND LINK
/EQUAL 2088

/ROTATE PATTERN

/RTL FAILED AC AND LINK
/SHOULD EQUAL ©p@¢

®

SHOULD

SHOULO

SHOULD



e

AINSTRUCTION TEST = 1

2244
2245
2246
2247
2289
2251
2252
2253
2254

2255
2256
2257
2260
2261
2262
2263
2264
2265

7208
7100
1021
7806
1037
7040
7450
7430
7482

7209
74,09
7820
7086
1036
7049
7450
7430
74122

PALL2 vi4l 3=DEC=069

JRTL TEST 17
CLA
IR
TAD Ko©D1
RTL
TAD K7773
CMA
SNA
SZL
HLT

/RTL TEST 18
CLA
CLL
CML
RTL
TAD K7775
CMA
SNA
S|,
HLT

~

91a7 PAGE 38

/ROTATE PATTERN

/RTL FAILED AC AND LINK
/SHOULD EQUAL 228

/RTL FAILED ACG AND LINK
/SHOULD EQUAL 2020




FINSTRUCYION

T T

2266
2267
227¢
2271
2272
2273
2274
2272

2276
2277
2328
23¢1
2322
2323

2324
23¢3
2326
2327
2319
2311
2312

2313
2314
2319
2316
2317
2329
2321
2322
2323

TEST =

72¢2
7100
7042
7220
730¢
7422
744y
7402

7288
1653
7242
744%
7449
7422

7208
7188
7847
7143
7422
7442
7482

7102
70282
72908
7240
7347
7042
742¢
7442
7402

o ‘7

b FALLY

/GROUP

/GRQUF

/GRQUP

GROUP

vidl

1 OPE
CLA
CLl
CMA
CML
CLA
SNL
SZ4
ALT

i OPE
CLa
TAD
CLa
CMA
SZA
HLT

1 OPE
CLa
CLi
CMA
cLL
SNL
SZa
HLT

1 0OPE
Cll
CH,
cLA
CMA
CLA
CHMA
SNL
S2A
=, T

3-DEC-69

RATE TEST ¢

CLL

RATE TEST 2

K2525
CMA

RATE TEST 3

CMA

RATE TEST 4

CMA CLL

54127 PAGE 39

/CLEAR AC

/CLEAR LINK

/AC EQUALS 7777
/LINK EQUALS ONE
/TEST COMBINATION

/CLA CLL FAILED, LINK SHOULD BE ©
/AC SHOULD EQUAL 2882
/AC EQUALS @0Ye

/AC EQUALS 2525
/TEST COMBINATION

/CLA CMA ERROR, AC SHOULD
/BE 2000

/AGE7777 LINKSL
/TEST COMBINATION

/CLL CMA FAILED, AC AND LINK
/SHOULD BE ZERQ
fLInNKEY

/ACB7777
/TEST COMBINATION

/CLA CMA CLL FAILED, AC AND
/LINK SHOULD BE ZERO



"

AINSTRUCTION TEST = 4

2324
2325
2326
2327
233¢
23314
2332

2333
2334
2333
2336
2337

234¢
2341
2342
2343

2344
2345
2346
2347
235¢
2351

2352
23538
2354
2355
2356

7200
7100
7040
7220
7450
7442
7402

7100
7420
7120
7420
7302

74,00
7120
7429
7402

7120
7249
7320
74808
7341
7482

7542
7320
7430
7440
7402

PALLY

/GROUP

/GRQUP

/GROUF

/GROUP

/GROYP

vidl 3=DEC=£9

1 OPERATE TEST ©

CLA
CLL
CMA
CLA CML
SZL
SZA
HLT

1 OPERATE TEST
CLL

ML

CLL CML

SNL

LT

1 OPERATE TEST
cLL

CLL CHL

SNL

WML T

1 QPERATE TESY
cLL CML

CLA CHA

CLA CLL cML
SE|,

SZA

HLT

1 OPERATE TEST
CLA CLL CMA
CLA CLL CML
SE|,

SEA
HLT

f‘%

147 PAGE 42

/LINRED
FAC=7777
/TEST COMBINATION

/CLA CHML FAILED, AC SHOULD EGUAL
/0882, INK SHOULD BE A ONE

/L INK=]
/TEST COMBINATION

/CLL CML FAILED
/LINK SHOULD BE A ONE

/LINKER
/TEST COMBINATION

/CLL CML FAILED,
/LINK SHOULD BE A ONE

/L INKSL
/AC=7777
/TESY COMBINATION

/CLA CLL CML FAILED, LINK SHOULD
/8E 1, AC SHCULD BE ZERO
/LINK=2, AC=7777

/TEST COMBINATION

#CLA CLL CML FAILEDs LINK SHOULD
/BE 1, AC SHOULD BE ZERO




On TERT = 1 FALLS v141 3=0EC=69 Q127 FPAGE 41

/GROUP 1 OPERATE TEST 12

2357 7348 CLA CLL CHYA /AC=7777, |, INKSE

234¢ 7469 CHMA CML /TEST COMBINATION

2361 7430 SEL

2362 7440 SZA

2363 7402 w7 /CMA CML FAILLD, AC SHOULD BE

/328w LINK SHOULD EQUAL ONE,
/GROULP 1 JPERATE TEST 11

2364 7300 CLa CLL /AC AND LINK=Y
23465 1¥53 TAD KE525 /AC=z2525%
2346 7342 cLa CMA CLL /TEST COMBINATION
2367 7249 oMa
237¢  742@ SN,
2374 744 SZ4
2372 7442 HLT /CLA CMA CM{ FAILED, AC SHQULD BE
/080, LINK SHOULD EQUAL ZERO
2373 7428 NOP
2374 7440 NQP
2375 7900 NOP
2376 7202 QP
2377 7488 NP
2408 #2440
/GROUP 1 OPERATE TEST 12
2422 73¢@ TLL CLA /AC AND | INK=Y
241 1493 TAD Ké=2b /ACE2225
24,2 71lé¢ GLL CMA oML /TEST COMBINATION
2473 1283 TAn K29525
2424 7449 CH4A
2479 7432 S8,
2426 7448 SZA
24¢7 7402 mLT /CLL CMA CML FAILED, AC SHOULD BE

/8068, LINK SHOULD EQUAL ONE
/GROUR 1 OPERATE TEST 13

2418 7300 cLA CLt

2411 7¢2¢ ML /AC=2208, [InKsi

2412 7160 CLL CMA CML /TEST COMBINATION

2418 7440 CMA

2414 7489 SE

2415 7440 SZaA

2416 74€2 “L T /CLL CMA CML FAILED, AC SHOULD

/BE 20ee, LINK SHOULD BE ONE




@

JINSTRUCTION TEST = 1

2417
2429
2421
2422
24238
2424
2425

2426
2427
2439
243}
2432
2433
2434

2435
2436
2437
2440
2441
2442
2448

2444
2445
2446
2447
2458
2451
2452

7300
1053
7560
7040
7430
7440
7402

7320
1452
7360
7042
7438
7440
7402

7229
1253
7201
1035
7048
7440
7402

7320
1035
7181
7040
7420
7449
7402

PALL2

/GRQUP

/GROUF

/GROUF

/GRQUP

—~

vidl 3=DEC=69 9127 PAGE 42

1 QPERATE TEST 14

cLa CLL

TAD K2925 /AC=2225, |INK=@

CLA CLL CMA CML /TEST COMBINATION

CMA

SEL

SZA

LT /CLA CLL CMA CML FAILED, AC SHOULD
/BE 2489 LINK SHOULD EQUAL ONE,

1 OPERATE TEST 15

CLA CLL CML

TAD K9252 /AC=5252, | INK=1

CLA CLL CMA CML /TEST COMBINAT]ION

CMA

S2i,

SZA

HLT /CLA CLL CMA CML FAILED, AC SHOULD
/BE 020, LINK SHOULD EQUAL ONE

1 OPERATE TEST 16

CLA

TAD K2525 /AC=2925

CLA JAC /TEST COMBINATION

TAD K7776

CMA

SZA

“eT /CLA 1AC FAILED
/AC SHOULD EOUAL 8808

1 OPERATE TESTY 17

CLL CML CLA ‘

TAD K7776 /AC37776, LINKsY

CLl IAC /TEST COMBINATION

CMA

SNL

SZA

HLT /CLL 1AC FAILED, AC AND LI[NK
/SHOULD EQUAL ZERO




FINSTRUCTION TEST =~ 1

2453
2454
24553
2456
2457
2460
2463
2462

2463
2464
246%
2466
2467

2478
2471
2472
2478
2474
2475

2476
2477
2500
2501
2522
2523
2504

2525
2526
2527
2519
2511
2512

7520
1753
7301
1435
7240
7420
7449
7482

73882
7241
74350
7440
7422

7328
1453
7241
7438
7440
7402

7320
1021
7143
7047
7429
7440
7402

7320
1853
7341
7430
7440
7422

F&L1E

/GROUP

/GROUP

/GROUP

/GRQUP

/GROUP

vid4l S=DEC=~69 gya7 PAGE 43

1 QPERATE TEST 18
CLA CLL CMi
TAD K2925 ZAC=2525 [ INK=}
cLa CLi lAC /TEST COMBINATION
TAD K7776
MK
SNL
SZA
HL Y /CLA CLL 1AC FAILED. AC AND LINK
/SHOULD BE ZERQ
1 OPERATE TEST 19

cLAa CLL /AC=2 [ INKs2

C4a JAC /TEST COMBINATION

SEL

S24

14 /CMA JAC FAILED, AC SHOULD EQUAL

/8222, LINK SHOULD EGUAL ONE
4 OPERATE TEST 2¢

cLa CLL

TAD K2525 /AC=22225 L INKED

CLA CMA TAC /TEST COMBINATION

SEL

SEA

LT /CLA CMA 1AC FAILED, AC SWQULD

/EQUAL 8283, LINK SHOULD BE ONE,
1 OPERATE TEST 21

CLt CLA CML /AC=22208 LINK=1

TAD K@221 /AC=FURY

CLl. CMA [AC /TEST COMBINATION

CHa

SNL

SZ4

HLT /CLL CMA JAC FAILED, AC SHOYLD BE

/2822 LINK SHOULD BE @
i OPERATE TEST 22

tLa CLi CcML

TAD K2%25 /AC=2525 INkEl

ClLa CLL CMA JAC /TEST COMBINATION

§2,

524

WLT /CLA CLL CMA [AC FAILED, AC SHOULD BE

/29032, LINK SHOULD BE OME



e

/INSTRUCTION TEST = 1

2513
2514
2515
2516
2517
2529

2521
2822
2523
2524
2523
2526
2527

2530
2531
2532
2533
2534
2535
2536

2537
2544
2541
2542
2543
2544
2545
2546

2547
2552
2551
2552
25538
2554
2555

7328
10852
7441
7434
7440
7402

7408
1835
7021
7049
7630
7442
7402

7820
1035
7021
7040
7420
7449
7402

7300
1453
7221
1235
7¢49
7430
7440
7402

7920
1835
7121
7448
7430
7440
7402

PALLE

/GROUP

/GROUP

/GRQUP

/GROUP

/GROUP

A~
vidl I=DEC=69 $127 PAGE 44
1 OPERATE TEST &3
CLa CLL
TAD K5Z252 /AC=25252 L INK=2
CLA CLL CMA 1AC /TEST COMBINATION
SZL
SZA
T /CLA CLL GMA [AC FAILED AC SHOULD

/BE 2200, LINK SHOULD RE ONE
1 OPERATE TEST 24
cLA CLL
TAD K7776 /AC=27776 LINK=D
CML 1AC /TEST COMBINATION
CMA
S2L
SZA
ALY /CML 1AC FAILED AC SHOULD BE
/€220, LINK SHOULD BE ONE
1 OPERATE TEST 25
CLA CLL CMy

TAD K777¢ /AC 27776 LINKSL

ML 1AC /TEST COMBINATION

CMA

S|,

SZA

ALT /CML JAC FAILED, AC SHOULD BE

/R28¢, LINK SHOULD BE EEROQ
1 OPERATE TEST <6
CLA CLL )
TAD K2925 /AC=2225 | INK=0
LA CML 1AC /TEST COMBINATION
TAD K7776
CMA
SEL
SZa
HLT /CLA CML JAC FAILED. AC SHOULD BE
/2882, LINK SHOULD EQUAL ONE
1 OPERATE TEST 27

CLA CLL CML /ACSELOR LINKE)

TAD K7776 /4C37776

CLL CML IAC JTEST COMBINATION

CMA

SZL

SZA

HLT JCLL CML IAC FAILURE, AC SHOuLD BE

/2002, LINK SHOULD EGUAL OME,




sINSTRUCTION TEST = 1

2536
2557
2569
2561
2562
2563
2564

2565
2568
2567
2570
2571
2572
2573
2574

2575
2576
2577

2620
2601
2622
2623
2604
2605
2606
2607

7300
1035
7121
7240
7430
7440
7422

7300
1053
7321
1035
7042
7430
7440
7402

7088
7000
7000
2600

7320
1¢58
7321
1035
7040
7430
7440
7402

a1l

vidl 3-0EC~07 9127 PAGE 45

/GROJP 1 OPERATE TEST 28

cLAa CLL

TAD K7776 /4C=7776 L INKED

CLL CML [AC /TEST COMBINATION

CHA

S2L

SZA

LT /CLL CML 1AC FAILED, AC SHOULD
/BE 2002, LINK SHOULD BE ONE

/GRQUP 1 OPERATE TEST 29

#2600

-CLa CLL

TAD K2525 /AC=2225, [ INKs@

CLA CLL CML IAC /TEST COMBINAT]ON

TAD K7776

CMA

SEL

SZA

LT /CLA CLL CML JAC FAILED, AC SHOULD
/BE 70gd, LINK SHOULD BE ONE

NQP

QR

AQR

/GRQUP 1 QPERATE TEST 32

CLA CLL CML

TAD K225 /AG=2225 | INK=1

CLa CLL CML [AC /TEST COMBINATION

TAD K7776

CMA

SZL

SZA

HLT /CLA GLL CML IAC FAILED, AC SWOULD
/8E 2028, LINK SHOULD BE ONE



e

ZINSTRUCTION TEST =~ 1

261¢
2611
2612
2615
2614
2615
2618

2617
2620
2621
2622
2623
2624
2629

2626
2627
2630
2631
2632
2633

2634
2635
2636
2637
2649
2643

7344
1221
7461
Tvéd
7434
7443
7462

7820
1021
7261
7048
7428
7449
7442

7500
1853
7263,
7420
7450
7402

7320
1453
7261
7430
7440
7402

PAL1c  vial J=DEC=6Y 9147 PAGE 46

/GROUP 1 OPERATE TEST $1
cLa CLL
TAD K@égi /AC=00EY |LINKER
SMA CML 1AC /TEST COMBINATION
CH44
SZ|,
SEA
SLT /CMA CML IAC PAILED, AC SHOULD
/BE 22828, LINK SHOULD BE ONE
/GROUP 1 QPERATE TEST 42
CLa CLL CML
TAD KBB@YL /ACsCE21 LINKs]
CMA CML JAC /TEST COMBINATI®N
CMA
SNL
SZa
WL T /CMA CML, 1AC FAILURE, AC SHOULD BE
/09022, LINK SHOULD BE ZERQ
/GROUF 1 OPERATE TEST 33

CLA Clb /ACEEERT | INKSD

TAD K2925 /AC=2525

CLA CMA CML 1AC /TEST COMBINATION

SNL

SEL

LT /CLA CMA CHML [AC FAILED, AC SHOULD

/BE 2003, LINK SHOULD BE ZERO
/GRQOUP 1 OPERATE TEST 44

CLA CLL CML

TAD K2525 /AC=2925 LINK=Y

CLA CMA CML [AC /TEST covBInatioNn

SEL

SZA

WLT /CLA CMA CML IAC FAILED, AC SHOULD

/BE 2083, LINK SHOULD BE ONE




FINSTRUCTION TEST =~ 1

2642
2643
2644
2645
2646
2647
265¢

2651
2652
2653
2654
2655
2656
2657

266¢
2661
2662
2663
2664
266%

2666
2667
2678
2671
2672
2678
2674

7308
1221
7161
7¢40
7432
7447
7422

7520
1921
7161
7849
7430
74492
7422

7828
1453
7361
7422
7342
7482

7362
7212
105¢
7¢42
7422
7442
74e¢

FALLY viél S=DEC=09 9427 PAGE 47

/3ROUP 1 QPERATE TEST $5

cLA CLb

TAD K¢E@1 /AC=2021 [ INK3D

CLL CMA CML TAC /TEST COMBINATION

CMA

S

SZA

HLT /CLL CMA CHML IAC FAILED, AC SHOULD BE

/2028, LINK SHOULD BE ONE

/GROUP 1 QPERATE TEST 36

CLa CLL CcMi

TAD KBB@1 FAC=B021 [ INKe=l

CLL CMA CML 1AC /TEST COMBINATION

CHA

SEL

SZA

WL T /CLL CMA CML 1AC FAILED, AC SHOULD BE

/2822, LINK SHQULD BE ONE
/GROUP § OQPERATE TEST 37

Clha CLi
TAN K2525 /AC=2525 | INKEP
gLA CLL CMA CML 1AC /TEST COMBINATION
N
SZA
ALT /CLA CLL CMA CML TAC FAILURE AC AND

/LINK SHOULD EQUAL ZEROQ
/GROUP 1 OPERATE TEST 38

CLA CMA CLL CML /AC=27777 [INK®Y

CLA RAR /TEST COMBINATION

TAD K$777

CMA

SNL

SZA

HLT /CLA RAR FAILED, LINK AND
/AC SHOULD EQUAL ZERO
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/UHSTRUCTION TEST = 4 PALLZ vidl 3=DEC=069 9127 PAGE 48

/6ROJP 1 OPERATE TEST 89

2675 7367 CLA CMA CLL CML /ACS7777 LINK=]

2676 7244 ClLa RAL /TEST COMBInaTION

2677 1635 TAD K7778

2720 7¢40Q CMA

2734 7423 SN

2722 7449 SZa

2703 7442 HLT /CLA RAL FAILED LINK AND

/AC SHQULD EGUAL ZERC
/GROUFP 1 QPERATE TEST 44

2724 7360 CLA CMA CLL CML /AC=27777 LINK =1

27845 7212 CLa RTR /TEST COMBINATION

2706 1247 TAD K5777

2707 7040 CMA

2718 7429 SNL

2711 7440 SZA

2712 7402 HLT /CLA RTR FAILED, AC AND

/LINK SHOULD BE ZEROQ
/GROUP 1 QPERATE TEST 41

2713 7468 CLA CMA CLL CML /AC=7777, LInK31

2714 7206 CLA RTL /TEST COMBINATION

2715 1436 TAD K7775

2716 7449 CMA

2717 742¢ SNL

2720 7440 SZA

2721 7402 Wi T /CLA RTL FAILEDR, AC AND LIWK

/SHQULDBE ZERO
/GROUP | OPERATE TEST 42

2728 7420 CLa CLL CML
2723 1426 TAD KBUV40® /ACS043 | INKE=Y
2724 7110 CLL RAR /TEST COMBINATION
2725 1041 TAD K7757
2726 7442 CMA
2727 7428 SN,
; 2738 7442 SEA
; 2731 74¢2 HL T /CLL RAR FAILED., AC AND LINK

/SHOULD BE ZERO




ZINSTRUCTION TEST - 2

2732
2733
2734
2735
2736
2737
274¢
2741

2742
2743
2744
2745
2746
2747
2750
2751

2752
2753
2754
2755
2756
2757
2760
2761

2762
2763
2764
2765
2766

7322
1226
7124
1043
7249
7420
744¢
7402

7320
1026
7112
1040
7249
7420
7340
7402

7320
1026
7126
1044
7040
7420
74470
7422

7360
7810
7420
7449
7402

FhApld

/GROJP

/GRQUP

/GROQUF

/GROUP

viél 3=PDEC-69 127 PAGE 49

1 OPERATE TEST 43

CLA CLL CML

TAD K@@da /AC=¢d43 [ INKE]

CLL RAL /TEST COMBINATION

TAD K777

CMA

SNL

SZ4a

WL T /CLL RAL FAILED, AC AND L]NK
/SHOULD BE BERD

1 OPERATE TEST 44

CLA CLL CML ‘

TAD KQB42 /ACS204@ | INK3Y

CLL RTR /TEST COMBINATION

TAD K7767

CMA

SN,

SEA

HLT /CLL RTR FAILED, AC AND LINK
/SHOULD BE ZERQ

{ OPERATE TEST 45

CLA CLL CMi

TAD KEd42 /AC=2042 L INKSY

CLL RTL /TEST COMBINATION

TAD K7277

CMa

SNL

SZA

KLY /CLL RYL FAILED, AC AND LINK
/SHOULD BE ZERQ

1 OPERATE TEST 46

cLa CLL CML CMA /AC=7777 LINK®L

CLL CLA RAR /TEST COMBINATION

SN

SBA

HLT /CLL CLA RAR FAILED AC AND

/LINK SHOULD BE ZEROQ
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/INSTRUCTION TEST =~ 1 PALL: vial 3=DEC-69 9127 PAGE 58

/GROUP 1 OPERATE TEST 47

2767 786K CLA CMA CLL CMl /AC=7777 LINK=L

277¢  7s¢4 CLL CLA RAL /TEST COMBINATION

2774 7422 Sh|

2772 743¢ SZ

2778 7422 il T /CLL CLA RA{ FAILED, AC AND
/LINK SHOULD BE ZERQ

2774 72¢32 NOP

277% 74%¢ NOP

2796 78282 NOP

2777 728% NQP

3229 83403
/GRQUP 1 OPERATE TEST 48

3028 7362 CLA CMA CLL CML /AC=7777 LINK®}

Ipazl 7312 CLA CLL RTR /TEST COMBINATION

322 742¢ SN

Ipz3 7447 SZA

Igca 7482 HE T /CLA CLL RTL FAILED, AC AND

/LINK SHOULD BE ZERQ
/GROUP | OPERATE TEST 49

3005 7360 CLA CMA CLL CML /ACE7777 |INK=1

3226 7306 CLA CLL RTL /TEST COMBINATION

3aa7 7422 SN,

Jaid 7442 SZA )

311 7402 LT /CLA CLL RTL FAILED, AC AND

~ /LINK SHCULD EQUAL ZEROQ
/GROUP 1 OPERATE TEST 5¢

3p12 7342 CLA ClLL /AC=ZUZR LINKE2

313 783¢ CML RAR /TEST COMBINATION

3214 1952 TAD K3777

3915 7440 CMA

3216 7427 SNL

3217 7442 S2A

3g2¢ 7442 HLT /CMl RAR FAILED, AC AND LINK N

/SHOULD BE ZERQ




/INSTRUCTION TEST =

g2l
3z22
3z23
3224
3g25
3226
3927

3330
3231
3p32
3233
3334
3035
3036

3237
3gqp
3241
Jgace
37543
3244
Jz4a5

3g46
347
3058
351
352
3253
3254
3g55

7320
7224
1235
744¢
7420
7449
7482

7528
7932
1847
7040
74290
7440
7422

7320
7¢26
1236
7542
7420
7442
7422

7320
1252
7830
1852
7240
7429
7440
7422

£
-

PALLY vi4l 3=PEC=069 etd7 PAGE 51

/GROUP L JPERATE TEST 51
cLa CLL /AC=0008 LIvk =@
CML RAL /TEST COMBINATION
TAN X7776
CMmA
S
SZA
Wi T /CML RAL FAILED, AC AND LINK
/SHOULD BE ZERD,
/GROUP L OPERATE TEST 52
LA CLL /AC=0C0B8 [ INK=@
CM, RTR /TEST COMBINATION
TAD K5777
CHA
SN,
SZA
mLT /CML RTR FAILED, AC AND LINK
/SHOULD EQUAL ZERO
/GROUP 1 OPERATE TEST 53
CLA CLL /ACSB022 L INK3D
CM{, RTL /TEST COMBINATION
TAD K777%
CMaA
SN
SZA
T /CML RTL FAILED, AC AND LINK
/SHQULD EQUAL ZERO
/GROUP 1 OPERATE TEST 54
CLA CLL
TAD K9252 /AC=5252 [ INK=]
CLA CML RAR /TEST COMBINATION
TAD K3777
CMA
SN
S24
LT /CLA CML RAR FAILED, AC AND
PAUSE



®

ZINSTRLETION TEST = 1

3256
3257
3060
3¢61
3g62
3963
3264
3365

3266
3267
3p72
3571
3972
3g73
3274
3275

3276
3277
318¢
312l
3102
3138
34114
3145

3106
3187
3119
3111
3112
3118

7340
1052
7224
168%
7248
7420
7449
7402

7380
1852
7232
1047
70492
7429
7449
7482

73080
1452
7226
1036
7040
7420
7442
7402

7300
7130
7004
7430
7440
7402

PALLY v141 3=DEC-69

/ZINSTRUCTION TEST = 3
/GROyP 1 QPERATE TEST 55
/TAPE 3

TLA CLL

TAD X5252

CLA CML RAL

TAD K/776

CMA

SN

SZA

LT

/GRQUP 1 OPERATE TEST 26
cLa CLL
TAD K5252
CLA CML RTR
TAD K2777
CMA
SN
SZA
HLT

/GROUP 1 OPERATE TEST 57
CLA CLL
TAD K5252
CLA CML RTL
TAD K7775
CMA
SN,
SZA
LT

/GROUF 1 OPERATE TEST 54
CLA CLL
CLL CML RAR
RAL
SEZL
S#A
HLT

-

9127 PAGE 52

/AC=E252 LINK=3
/TEST COMBINAT]ION

/CLA CML RAL FALED, AC AND
/LINK SHOULD BE ZERQ

/AC25252 L INK=0
/TEST COMBINATION

/CLA CML RTR FAILED, AC AND
/LINK SHOULD BE 2ERQ

/AC=5252 LINK=&
/TEST COMBIVATION
/CLA CML RTL FAILED, AC AND
/LINK SHOULD EQUAL ZEROD
/AC=2082 L INK=E .
/TEST COMBINATION
/CLL CML RAR FAILED, AC SMQOULD

/BE 3062 LINK SHOULD BE 1




ZINSTRUCTION TEST = 1
3114 73822
3115 7132
3116 7024
3117 743%¢
3428 7442
3121 7422
3122 7300
3123 7124
3124 7012
3125 7432
3126 744p
3127 7482
3132 7328
J131 7124
3132 7018
3133 7432
3134 7440
3135 7492
3136 7300
3137 7432
3140 70206
3141 7430
3142 7440
3143 7402

PALL1YS V141 3=DEC=69

/GROUP 1 OPERATE TEST 29
cla CLL CML
CLL CML RAR
RAL
SEL
SZA
HLT

/GROUP 1 OPERATE TEST 62
CLa CLL
CLL CML RAL
RAR
S2L
SZA
MLT

/GROUF 1 OPERATE TEST 61
CLA CLL CML
CLL CML RAL
RAR
SZL
SZA
WLT

/GROUP 1 OPERATE TEST 62
CLA CLL
CLL CML RTR
RYL
SE
SZA
HLT

9197  PAGE 53

/AC=2028 L1NKS1
/TEST COMBINATION

/CLL CML RAR FAILED, AC SHQULD BE
/8¢6¢, LINK SHOULD BE A ONE

/AC=23288 | INk3E
/TEST comBInaTion

/CLL CML RA{ FAILED, AC SHOULD
/EGUAL 28208, LINK SHOULD BE ONE

/AC=20828 LINKEL
/TEST COMBINATION

/CLL CML RAL FAILED. AC SHOULD
/EQUAL 0228, LINK SHOULD BE ONE

/AC=0808 | [NK=E
/TEST COMBINAT]ON

/CLL CML RTR FAILED, AC SHOULD
/BE 2002, LINK SHOQULD BE OQNE



®
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3144
3145
3146
3147
3152
3151

3152
3153
3154
3159
3156
3157

3164
3161
3162
3163
3164
3165

3166
3167
317¢@
3171
3172
3473
31748

317%
3176
3177

3222
3271
32pe
3203
J2¢4
3225
32726

7520
7182
7286
7430
7442
7402

7320
7126
7012
7438
7449
7482

7820
7126
7212
7430
744y
7422

7320
1852
73839
7824
7430
7440
74822

7¢08
7ée0
7002
3220

7320
1953
7530
7024
7430
7449
7422

PALL1Z2 vidl 3«0EC=

/GROUP 1 OPERATE TEST
cha CLL CML
CLL CML RTR
RTL
SZ,
SEA
HLT

/GROUP 1 OPERATE TEST
cLA CLb
CLL CML RTL
RTR
SZL
SZA
HLT

/GRQUP { QPERATE TEST
CLA CLL CM{
CLL CML RTL
RTR
SE|
SZA
HLT

/GROUP 1 OPERATE TEST

CLa CLL
TAD K3252

-~

4 i

&9 137 PAGE 54

63
/AC=2222 L1nKEd
/TEST cOMBINATION

/CLL CML RTR FAILED, AC SHOULD
/BE 2222 LINK SHOULD BE ONE,
X
T /AC=E220 LINKE=e
/TEST COMBINATION

/CLL CML RTL FAILED, AC SHOULD

/BE @622, | INK SHOULD BE A ONE
65

FAC=2008 | INK®L

/TEST COMBINATION

/CLL CML RTL FAILED, AC SHOULD
/BE 2828, LIANK SHOULD BE A ONE,
66

/AC=E525%2 | INK=D

CLA CLL CML RAR /TEST COMBINATION

RAL
SEL
SZA
HLT

NOP
NOP
NOP

«3200

/GROUP 1 OPERATE TEST
CLA CLL CML
TAD K2525

/CLA CLL CML RAR FAILED, AC SHOULD
/BE 22¢9, LINK SHOULD BE ONE

67

/AC=2225 L INKs}

CLA CLL CML RAK /TEST COMBINAT]ON

RAL
SZ|
S£A
HLT

/CLA CLL CML RAR FAILED, AC SHOULLD
/BE 2220, LINK SHOULU BE ONE




| 32.7
} 322
| 3211
3214
3213
3214
3213

1

V

|

| 3216

| 3217

g 3222

| Jz2i
3222

} 3223

y 3224

3225
( 3226
? 3227
z 3232
i 3231
3222
3233

ZINSTARLETION TEST =

78¢¢
1453
7324
7¢1¢
7432
7440
7492

742¢
1852
7324
7418
7432
T44¢
74¢2

7823
1853
7332
T¢06
743¢
7443
7422

1

FaLLld vidl =Dt C-09 9147 PAGE 55

/GROUF 1 OPERATE TEST &3
cLA CLL
TAD K2525 /AC=2525 [ INKSD
GLA CLL CML RAL /TEST COMBINATION
RAR
SZL
SZA
WL T /CLA CLL CML RAL FAILED, AC SHOULD
/BE 2288, LINK SKHOULD BE ONE
/GROUP 1 OPERATE TEST &9
Cil.a CLL CML
TAD K5252 /AC=5252 L INKsY
CLA ClLbL CML RAL /TESY COMBINAT]ON
RAR
SEL
SZA
ML T /CLA CLL CML RAL FAILED, AC SHOQULD
/BE 2820 LINK SHOULD BE A ONE
/GROUP 1 OPERATE TEST 78
cLAa CLL
TAD K2525 /AC=225925 | INK=@
CLA CLlL CML RTR /TEST COMBINATION
RTL
S2L
SZA
W T /CLA CLL CML RYR FAILED, AC SHOULD
/BE 6028, [INK SHOULD BE A ONE
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ZINSTRUCTION TEST = 1

3234
3235
3236
3237
32480
3241
3242

3243
3244
3245
3246
3247
3252
3251

3252
3253
3254
3255
3256
3257
3260

3261
3262
3263
3264
3265
3266
3267
3279

3274
3272
3273
3274
3275
3276
3277
330

-

Vid4d S=DEC~069 9127 PAGE 56

/GROUP 1 OPERATE TEST 71

CLA CLL CM,

TAD K52%2 /AC35252 | INK=1

CLA CLL CM{, RTR /TEST COMBINATION

RTY

SEL

SZA

HE T /CLA CLL CML RTR FAILED, AC SHOULD
/BE 020&, LINK SHOULD BE A ONE

/GROUP 4 OPERATE TEST 72

CLL CLA

TAD K2525 /AC=22525 L INK=@

C%A CLlk CML RTL /TEST COMBINATION

RTR

SZL

SZA

LT .. /CLA CLL CML RTL FAILED, AC SHOULD
/BE 0008, L INK $SHOULD BE A ZERO

/GROUP 1 QPERATE TEST 73

CLL CLA CML
TAD K5252 /AC25252 | INK=}
g%A CLL CML RT| /TEST COMBINATION
R
SEL
SZA
ML T /CLA CLL CML HRTL FAILED, AC SHOULD
/BE 2029, LINK SHOULD BE A ONE

/GROUP 1 QPERATE TEST 74

CLA CLL
TAD K7777 /TEST PATTERN
Cla /AC EQUALS 20931
TAD K7776
CMA
SNL,
SZA

/ A
HLT /

C SHOULD EQUAL 0@28
EQUAL A ZERO

/GROUP 4 OPERATE TEST 75

CLA CLL

TAD K7776 : /TEST PATTERN

Cla /AC EQUALS Om22

TAD K7775

CMA

SNL

SZA /C1A FAILED AC SHOULD EQUAL 4880
HLT /LINK SHOULD EQUAL A ZERD




ZINSTRUCTION TESY = 3 FALLO Vviél 3=DECw69 9127 PAGE 57

/GROUP 1 OPERATE TEST 76

33zl 7300 CLA CLi

33z2 1063 TAD K7774 /TEST PATTERN

3303 7641 Cla /AC EQUALS 22¥¢4

3304 1037 TAD K7773

33¢5 7040 CMA

33¢6 7420 SNL

3327 7440 SZA /ClA FAILED AC SHOULD EQUAL v@eR

3312 7402 HLT /LINK SHOULD EQUAL ZERD
/GROUP 1 OPERATE TEST 77

3311 7300 CLa CLL

3312 1062 TAD K7772 /TEST PATTERN

3343 704 cla /AC EQUALS 221e

3314 1940 TAD K7767

3315 7040 CMa

3316 7420 SN,

3317 7440 SZA

3320 7402 HLT /ClA FAILED AC SHOULD EQUAL 2008
/GROUP 1 OPERATE TEST 78

3321 7400 CLA CLL

3322 1063 TAD K7768 /TEST PATTERN

3323 70244 cla /AC EQUALS 2029

3324 1941 TAD K7757

3325 7049 CMA

3326 7420 SN,

3327 7440 SEA

3330 7462 WL T /CIA FAILED AC SHOULD EQUAL v0d¥®

/LINK SHOULD EQUAL ZERO
/GROUP 1 OPERATE TEST 79

3334 7300 CLA CLb

3332 1960 TAD K7742 /TEST PATTERN

3333 7041 ClA

3334 1042 TAD K7737 /AC EQUALS ©o4e

3335 7040 CMA

3336 7420 SNL

3337 7440 SZA

3340 7402 HLT /C1A FAILED AG SHOULD EQUAL 280D

/LINK SHOULD EQUAL ZERO
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3341
3342
3343
3344
3345
3346
3347
3350

335
3352
3353
3354
3355
3356
3357
3360

3361
3362
3363
3364
3365
3366
3367
3379

7308
1476
7041
1043
7049
7420
7440
7402

7300
1057
7041
1044
7040
7420
7442
7402

7380
1056
7041
1045
7240
7422
7440
7482

-~

\

PALLR viél 3=0EC=69 9187 PAGE 58

/GROUP 1 QPERATE TEST 52

CLA CLL
TAD K7720
Cla

TAD K7677
CMA

SN,

SEA

WL T

/TEST PATTERN
/AC EGUALS 2402

/C1A FAILED A SHOULD EQUAL g2@¢
/LINK SHOULD EQUAL ZERO

/GROUP 1 QPERATE TEST &1

cLa CLL
TAD K760
ClA

TAD K7577
CMA

SNL

SZA

HL T

/TEST PATTERN
/AC EQUALS 0249

/CIA FAILED AC SHOULD EQUAL 0082
/LINK SHOULD EQUAL ZERD

/GRQUP 1 OPERATE TEST 82

CLA CLL
TAD K7409
Cla

TAD K7377
CMA

SNL

SZA

ML T

/TEST PATTERN
/AC EQUALS 2400

/CIA FAILED AC SHOULD EQUAL 2200
/LINK SHOULD EQUAL ZEROQ




ZINSTRUCTION TEST =~ 1

3371
3372
3373
3374
3375
3376
3377

3408
3441
3422
3423
3404
3475
3476
3427

3419
3411
3412
3413
3414
3415
3416
3417

3420
3421
3422
3423
34249
3425
3426
3427

343¢
3431
3432
3433
3434
3435

7600
7¢08
7220
7208
7080
7220
7000
3422

7300
1855
7041
1046
7047
7420
7440
7402

7369
1454
7441
1247
7¢RD
7424
7442
7482

7302
1934
7041
1950
7041
7420
7447
7402

7300
1320
7041
7452
7420
7402

PALLY

#3402
/GRQUP

/GROUP

/GROUP

/GRQUP

vidy 3=DEC~

NDP
NOP
NQFR
NQP
wOPR
NOQP
NOR

1 OPERATE TEST
CLA CLL

TAD K7¢g2

Cla

TAD K&777

CHMA

SN,

SZA

HLT

1 OPERATE TEST
CLA CLL

TAD K692

ClA

TAD K5777

CMA

SN

SZA

WLT

1 OPERATE TEST
CLA CLL

TAD K4¢@d

Cla

TAD K3777

CMA

SNL

SZa

WL T

1 QPERATE TEST
CLa CLL

TAD KPege

Cla

SNA

SN

Wi T

69 Q147 PAGE 59

B3

/TEST PATTERN
/AC EGUALS 10¥®

/CIA FAILED AC SHOULD EQUAL 2882
/LINK SHOULD EQUAL EERO
84

/TEST PATTERN
/AC EQUALS 2002

/C1A FAILED AC SHOULD EQUAL 9220
/LINK SHOULD EQUAL ZERD
85

/TEST PATTERN
/AC EQUALS 4028

/C1A FALED AC SHOULD EQUUA 080
/LINK SHOULD EQUALL ZEROQ
86

/TEST RPATTERN

/AC EQUALS 2208, LINK EQUALS A ONE

/CTA FAILED AC SHOULD EQUAL J022
/LINK SHOULD EQUAL A ONE



e
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3436
3437
3449
3441
3442

3443
3444
3445
3446
3447
3450
3451
3452

3453
3454
3455
3456
3457
3460

3461
3462
3463
3464
3465
3466
3467
3470

3471
3472
3473
3474

7340
7311
7438
7343
7482

7860
7305
7430
7402
7d41
1622
7442
7402

7520
7313
7432
7402
7500
7422

7360
7327
7432
7422
7841
1923
7440
7402

7308
7331
7520
7422

PALLZ

/GRAOUFP

/GROUP

/GROQUP

/GROUP

/GROUP

vidl 3-DEC~69

JPERATE TEST 87
CLA CMA CLL

CLa CLL JAC RAR
SZL

SZA

sLT

1 OPERATE TEST &8
CLA CMA CLL CML
CLA CLL IAC RAL
SEL
ALY
CMA JAC
TAD Ko222
SZ4A
LT

1 OPERATE TEST 89
CLA CLL CML

CLA CLL IAC RIYR
SEZL

HLT

SMA

HLT

1 OPERATE TEST 90
CLA CMA CLL CML
CLA CLL IAC RTL
S|
HL Y
CMA 1AC
TAD KB©R4
SZA
WL T

{ OPERATE TEST 91
cLa CLL
CLA ClLL CML IAC

SMA SNL
HLT

A,

3

9187 PAGE 6@

/AC=27777,L%8
/AC=C, L1

/ERRQR} LINC NOT SET OR
/AC NQT @

/AC=7777,L=1
/ACR2, k30
/ERROR} LINC NQT &

/ERROR AC NOTZ22

/AC=2, L=l

/AC=4000,L:20

/ERROR} [INC NOT 2

/ERRQOR} AC NOT 42020
/ACZTT77,L=51
/AC34, L INC=Y

/ERROR} LINC NOT 2

/ERROR} AC NOT 4
/AC=d, =8
RAR /AC=4000, =1

/ERRQR} AC NOT 4222 OR
/LINC NOT &




ZINSTRUCTION TESY = 4

3475
3476
3477
3502
3501
3522
3523
35¢4

3585

3526
3527

3519
3511
3512

7820
7345
7430
7422
7¢41
1021
7448
7402

7560
7373
7440
7402
7430
7422

PAL12

visl I=DEC~69 9407 PAGE 61

/GROUP 1 QPERATE TEST %2

CLA CLL /AC=E, =2

CLA CMA CLL IAC RAL /ACSLURL, %0
S2L

HLT /LING NOTSD

CMA [AC

TAD KOUZL

SZA

HLT /AC NOT 2203

/GROUP 1 QPERATE TEST %3

CLA CMA CLL CML /AC37777,L51
ch CMA CLL CML IAC RTR /AC=22,( 20
SZ4

HLT /ERROR}
SEL
MR /ERROR}



e
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3513
3514
3515

3516
3517

352¢
3521
3522
3523

3524
3525
3526

3527
353%
3531

3532
3533
3534
3535
3536

7249
7723
7422

744¢
7402

7242
7642
7442
7402

7262
7548
7422

7208
7544
7422

7282
1852
7542
7452
7482

PALLY

/GROUFP

/GROUP

/GROUP

/GROUP

/GRQUP

viél 3=DEC=69

2 OPERATE TEST 1
CLA CMA
CLA SMA
LT

SZA
HLT

2 QOPERATE TEST 2
CLA CMA

CLA SZ4A

SEA

ALT

2 QPERATE TEST 3
CLA CHA

SMA SZA

HLT

2 OPERATE TEST 4
CLA

SHMA SEA

HLT

2 OPERATE TEST ®
CLA

TAD K3777

SMA SZA

SNA

HLT

~

9127 PAGE 62

/AC=27777

/TEST COMBINATION
/CLA SMA DID NOT SKIP
/AC SHOULD BE ¢022

/CLA S4A DD NOT CLEAR AC
ZAC SWOULD BE doed

/AC=7777
/TEST COMBINATION

/CLA SEA SKIPPED QR AC AQT
/CLEARED TQ 2ve2

/AC27777

/TEST COMBINATION

/SMA SZA SHOULD HAVE SKIPPED
/AC SHOULD EGUAL 7777

/AC20022

JTEST COMBINAT]ON

/SMA SZA SHOULD HAVE SKIPPED
/AC SHOULD EOUAL 2280

/ACB3777
/TEST COMBINATION

/SMA SEA SHOULD NOT WAVE SKPPED

/AC SHOULD EQUAL 3777




ZINSTRLOYION TEST ~

3837
35472
35¢1

3542
3543

3544
3545
3546

3547
3554

3551
3552
3553
3554
3555

3536
3587
3569
3561
3562

7248
774%
7422

744K
7422

7222
7748
74282

744¢
7432

7202
1952
7748
7448
7402

7329
1¢52
7620
74490
7402

+
-

PALL2

/GRQYP

vi4l

3=DEC=69

2 OPERATE TEST ¢

cha

CMA

CiLA SMA SZA

ALY

SZA
HLT

/GROUF 2 QPERATE TEST 7

CLa
CLA SMA SZA

HLT

SZaA
HLT

/GROUP 2 OPERATE TEST &

/GROUP

CLaA

TAD k3777
CLA SMA SZA

SZa
WL T

2 OPERATE TEST 9

cLL

CLA

TAD K5252

CLA
SEA
RLT

Shi,

9127 PAGE 63

/AC=7777

ZTEST CcOMBINATION

/CLA SMA SZA SHQULD HAVE SKIPPED
/AC SHOULD BE Pedge

/AC wAS NQT CLEARED
/AC SWOULD BE P29

/AC=aQ00

/TEST COMBINATION

/CLA SMA S2A SHMOULD HAVE SKIPPED
/AC SHOULD BE 20229

/AC wAS NOT CLEARED
/AC SHOULD BE geea

/AC=3777
/TEST COMBINATION

/SMA SZA DID NOT SKIP OR AC
/NOT CLEARED TO 2009

/LINK=2
/ACE5252
/TEST COMBINAT]ON

/SN, SKIPPED OR AC NOT CLEARED
/AC AND [INK SHOULD EQUAL ZERO




) >

JINSTRUCTION TEST = 3 PALLD vidl 3=DEC=69 127 PAGE 64

/GRGUP 2 OPERATE TEST 14

3563 73282 CLA CLL cML
3564 1053 TAD K225 /AC=2925 [ INK31
3565 7629 CLA SNL /TEST COMBINATON
3566 7422 LT /SNL D10 NOT SK[P

/LINK SHOULD EQUAL ONE
3567 7442 SZA
3570 7482 HLT /GLA SNL DID NOT CLEAR AC

/AC SHOULD EQUAL 2208

/GROUP 2 QPERATE TEST 1t

3571 7300 CLA CLL /ACa0R28 | INKsQ

3g72 7520 SMA SN, /TEST COMBINATION

3573 7442 SZA

3574 7402 HL T /SMA SNL SKIPPED, AC AND LINK

/SHOULD EQUAL ZERO
/GROUP 2 OPERATE TEST 12

357% 7922 cLa CLL CML /AC=0208 | INKal

3576 752¢% $MA SNL /TEST COMBINATION

3577 7422 HLT /SN SHOULD HAVE SKIPPED, LINK = 1
/GRQUP 2 OPERATE TEST 13

3600 7300 cLA CLL

Je2l 1234 TAD K4922 /ACS4BE2 [ INKe@

Js22 7528 SMA SNL /TEST COMBINATION

3683 74¢2 HLT /SMA SHOULD HAVE SKIPPED

/AC=4822

/GROUP 2 OPERATE TEST 14

3604 7520 CLA CLL CML

J625 1234 TAD K4922 /AC=40Q0 | INKel

3606 7520 SMA SN, /TEST COMBINATION

3637 7482 HLT /SMa SNL SHOULD HAVE SKIPPED

/AC=40088 | InKsl




ZINSTRUCTION TEST = 1

3612
361l
3612
3613

3614
3615
3616

3517
3629

3621
3622
3623
3624

3625
3626

3627
3630
3631
3632

3633
3634

3635
3636
3637

3640
3641
3642

7328
7720
7448
7422

732¢
7720
7402

7442
7402

7500
1034
7728
7402

7440
7422

7320
1834
7720
7402

7442
7402

7528
7460
7402

7320
7400
7402

FALL2

/GROUP

/GRQUP

/GRQUP

/GRQUP

/GROUP

/GROUP

vidl 3=DEC=09

9447 PAGE 65

2 OPERATE TEST 15

CLA CLL

CLA SMA SNL
SZA

HLT

2 QPERATE TEST 1

Cha CLL CML
CLA SMA 3SNi
HLT

SZA
HLT

2 OPERATE TEST
CLA CLL

TAD KA442o

ClLA SMA SNL
HLT

SZA
ML T

2 OPERATE TEST
CLA CLL CML
TAD K4¥208
CLA SMA SNi
HLT

SZA
ML T

2 OPERATE TESTY
CLA CLi

S2A SNL

HLT

2 OPERATE TEST

i CLA CML
SEA SN
HLT

/ACSE002 | INKED
/TEST COMBINATION

/SMA SN SKIPPED, AC AND LINK
é/SHOULD BE ZERQ

/AC=0020 | INKE1

/TEST COMBINATION

/SNl SHOULD HAVE SKIPPED
/L INKEY

/CLA SMA SNL U1D NOT CLEAR AC
/AC SHOULD EGUAL ZERO

17

/AC24088 | INKaQ
/TEST COMBINATION
/SMA SKOULD WAVE SKIPPED
/AC SMOULD EQUAL 808¢ LINKs®

/CLA SMA SNL UJD NOT CLEAR AC
/AC SHOULD EQUAL 2089

18

/ACE4RER L INKSL
/TEST COMBINATION

/CLA SMA SNL SHOULD HAVE SKIPPED

/AC SHOULD BE @9P8Z | INKEl

/CLA SMA SNL D]D NOT CLEAR AC
/AC SHOULD BE 2282 | INK=1

19

/ACz0P02 | INK2D

/TEST COMBINAT]ON
/SZA SNL OID NOT SKIP
/AC=2007

232

JAC=2898 [ INKel
/TEST COMBINATION
/S24 SNL DID NOT SKIP
7AC=0202 | InKeyg



N

/INSTRUCTION TEST = 3

3649
3644
3645
3646
3647

3632
3651
3652
3653

3654
3655
3656

3657
3664¢

3661
3662
3663

3664
3665

3666
3667
3678
3673

3672
3673

3674
3875
3676
3677
3730

73¢@
1231
7480
745¢
7422

7320
1226
7460
7482

7300
7668
7402

7440

7402

782¢
7660
7402

7449
7402

732¢
1938
7660
7402

7442
7402

7480
1233
7662
7442
7402

PALLG

/GRQUP

/GRQUP

/GROUP

/GRQUP

/GROUP

/GRQUP

vi41 S<DEC=69

Z QPERATE TEST 21

CLA Chk
TAD KE422
SEA SNL
SNA

HET

2 OPERATE TEST
CLA CLL CML
TAD KEg4w
SZA SN
ALT

2 OPERATE TEST
CLA Chb

CLA S#A SN
WL T

SZA
WL T

2 OPERATE TEST
CLA CLL CML
CLA SZA SNL
WL T

SEA
HLT

2 OPERATE TESY
CLA CLL CML
TAD K220
CLA SEA SNL
HLT

SZA
HLT

2 OPERATE TEST
CbA CLL

TAD K2UQ@

CLA SZA SNL
SZa

HLT

e2

~

9187  PAGE 66

/ACEQ428 | INK=E
/TEST COMBINATION

/SEA SNL SKIPPED
/ACE3400 | [NKSD

/ACEER42 LINKEY
/TEST COMBINATION

- /5ZA SNL SHOULD HAVE SKIPPED

23

24

25

26

/LINKSY

/ACEB202 | INK=?

/TEST COMBINATION

/CLA SZA SNL SHOULD HAVE SKIPPED
/AC AND LINK SHOULD EQUAL ZERO

/GLA SEA SNL D]D NOT CLEAR AC
/AC SHOULD BE ©28¢

/ACSERRY | INKEL
/TEST COMBINATION

/CLA SZA SNL SHOULD HAVE SKIPPED
/AC=2088 | [NKE]

/CLA SZA SN BID NOT CLEAR AC
/AC SHOULD EQUAL 2829

/ACBZ2€8 | INK=]

/TEST COMBINATION OR
/CLA SZA SN|, SHOULD HAVE SKIPPED
JLINKEY

/CLA SEA SNL UID NOT CLEAR AC
/AC SHOULD EQUAL 2209

/ACE2080 | INKeD
/TEST COMBINATION

/CLA SZA SNL FAILED, AC AND
/LINK SHOULD EGuAl ZERD




ZINSTRUCTION TEST = 4

3721
3722
37¢3

3724
3729
3726
3747

3710
3711
3712
3713

3714
3715
37196
3717
3720

7800
7562
7402

7322
1052
7562
7482

7300
1034
7562
7422

7302
1050
7560
7450
7402

PALL?

/GROUP

/GROUP

/GRQUP

/GRQUP

V14l

S=PDEC=09 9127 PAGE 67

2 QPERATE TEST 27

CLA
SMA
<L T

CLL /AC=0¥32 | INKED

SZA SN{ /TEST COMBINATION
/SMA SZA SNL SHOULD HAVE SKIPPED
/AC=0e [ [NK=2

2 QPERATE TEST 28

CLA
TAQ
SHA
=0T

CLL CML
K$777 /ACR3777 | InK=1
SZA SNL /TEST COMBINATION

/SMA SZA SNL SHOULD HAVE SKIPPED
/AC=3777 L INK=L

2 OPERATE TEST 29

CLA
TAD
SMA
LT

cLi
K492y /ACE4VRR | INK8L
SZA SNL /TEST COMBINAT]ON

/SMA SZA SNL SHOQULD HAVE SKIPPED
/AC=400D L INK=D

2 OPERATE TEST 32

CLA
TAD
SHA
SNA
HLT

cLl
KS777 /ACE3777 L INKEQ
SEA SN /TEST COMBINATIOQN

/SMA SEA SN| SHOULD NOT mAVE
/SKIPPED, AC=$777 [ INK=2



e

/INSTRUCTION TEST = 1

3721
3722
3729

3724
3725

3726
3727
3734
3731

3732
3733

3734
3735
3736
3737

3740
3741

3742
3743
3744
3745
3746

3747
3750
3751

3752
3753
3754

7308
7768
7482

7440
7402

7829
1059
7760
7402

74472
7402

7300
1034
7760
7402

7440
7482

7300
1659
7762
7442
7402

7300
7410
7402

7322
7410
7402

FALLZ

/GROUP

/G3RQUP

/GRQUP

/GROUP

/GRQUP 2 QPERATE TEST 35

/GROUP

vidl 3=0EC=69

2 OPERATE TEST o1
SLA CLL
CLA SMA SZA SN|
HL T

S2A
mi 7

2 OPERATE TEST $2
cLa CLL cML

TAD k3777

CLA SMA SZA SNL
HLT

SZA
HLT

2 OPERATE TEST 33
CLA CLL

TAD K422

CLA SMA SZEA SN
HLT

SZA
HLT

2 OPERATE TEST 34
CLA CLL

Thp K3777

CLA SMA SEA SNL
SZA

LT

cLA CLL
SKP

HLT

2 OPERATE TEST 36
CLA CLL cML

SKP

HLT

427 PAGE 68

/AC=2002 | [uKsp
/TEST COMBINATION

/CLA SMA SZA SN SHOULD mAVE SKIPPED
/AC SHOULD EGUAL S@e@

/AC MOT ZERQ AFTER CLA SHA 5ZA SNL
/AC SHOULD BE €000 LINK=g

/ACR3777 | INK=1
/TEST COMBINATION
/CLA SMA SZA SNi OID NOT SKIP
/AC SHQULD BE @@28 L INK=1

/CLA SMA SZA SNL DID NOT CLEAR AC
/AC SHOULD EQUAL @087 [ INK=1

/AC34822 | INKEE
/TEST COMBINATION
/CLA SMA SZA SNL SWOULD HAVE SKIPPED
/AC SHOULD BE @208, LINK=Z

/CLA SMA SZA SNL DID NOT CLEAR AC
/AC SHOULD EQUAL 282

/AC23777 | INK=E
/TEST COMBINATION

/CLA SMA SZA SNL FAILED, AC
/SKOULD BE ZERQ, LINK=®

/AC=0¢020 | INKB

/TEST INSTRUCTION

/SKIP FAILED

/AC AND LINK EQUAL ZERO

/AC=2206 LINKel
¢TEST INSTRUCTION
/SKIP FAILED
/AC=U€e? | InK=1l




3755
3756
3757
3768

3761
3762
3763
3764

3765
3766
3767
3770

3774
3772

3773
3774
3775
3776
3777

4229
4@21
4222

4gad
aprd
479
4206

ZINSTRUCTION TEST - 1

7320
1059
7440
7402

78282
1050
7419
7402

7208
1420
7710
7482

7440
7482

7200
1034
7710
7440
7402

4000

7240
7650
7402

7200
7658
7440
7402

PALLZ

/GRQUP

/GROUP

/GROUP

/GROUP

04292
/GRQUP

/GROUP

vidal 3=-DEC=69 9127 PAGE 69

2 OPERATE TEST
CLa CLL CML
TAG K8/777
SKP
nLT

2 NPERATE TEST
CLA CL

TAD K$/77

$KP

ALT

2 OPERATE TEST
CLA

TAD K$777

CLA SPA

LT

S£a
HLT

2 OQPERATE TEST
ClLA
TAD K4eRs
CLA SPA
SZa
mL T

2 OPERATE TEST
CLA CMA

CLA SNA

HLT

2 OPERATE TEST
CLA

CLA SNA

SZA

"L T

37

/AC=3777  LINKEL
/TEST INSTRUCTION
/SKIP FAILED
/AC=3777 | INKEL
38

/ACE37T7 | INKEK
/TEST INSTRUCTON
/SKIP FAILED
/AC=3777 L INKBQ
39

/G777
/TEST COMBINATION
/CLA SPA DID NOT SKIP, AC
/SHOULD BE ZEROC

/CLA SPA DID NOT CLEAR AC
/AC SHOULD EQUAL EZERD
49

/ACRAYRE
/TEST COMBINATION

/CLA SPA FAILED, AC SHOULD
/EQUAL Q0ed

41
/AC=7777
¢TEST COMBINATION
/CLA SNA DID NOT SKIP
4E/Ac SHOULD BE #g@p
/AC=00ER
/TEST COMBINAT]ON

/CLA SNA FAILED
/AC SHOULD EQUAL vpe

®




i T e

-

JUWSTRUCTION TEST = 1

4227
4z, ¢
4213
4212

47243
4214
4745
4p16

4347
4328
azz1
4722
4323

4224
4225
4706
azz27

4237
4331
4232
4239

4234
4235

4236
4237
4249
4241
4342

7220
7559
7442
7482

7208
1<¢99
7558
7422

7220
1834
7958
7452
74€2

7209
7758
7442
7462

7289
1357
7758
7492

7440
7422

7228
1834
7758
7449
7422

PALLG

/GROUP

/GROUP

/GROUP

/GROUF

/GRQUP

/GROUP

PAUSE

vi4l 3=NEC=69 9137 PAGE 70
2 QPERATE TEST 43
ClA sAC=2g2
SPA SNA /TEST COMBINATION (AND)
SZA
HLT /SFA SNA SKIFPED
/ACS2ERd
2 OPERATE TEST 44
cLA
TAD K$8/77 /AC=3777
SPA SNA /TEST COMBINATION (AND)
HLT /SPA SNA FAILED TO SKIP
/AG=3777
2 OPERATE TEST 45
CLA
TAD K4vge /ACE4000
SPA SNA /TEST COMBINATION (AND)
SNA
ML T /SPA SNA SKIPPED,
/ACe42E0
2 OPERATE TEST 46
CLA /AC=RUBR
CLa SPA SNA /TEST COMBINATION (AND)
SZA
HLT /CLA SPA SNA FAILED,
/AC SHOULD BE 8238
2 OPERATE TEST 47
CLA
TAD K3777 /AC=3777
CLA SFA SNA ZTEST COMBINATION (AND)
HLT /ClLA SPA SNA D10 NOT SKIP
/AC SHQULD BE @Qe2
524
WL T /CLA SPA SNA LID NOT CLEAR THE AC

2 OPERATE TEST
ClL.A
TAD K4222
CLA SPA SNA
S2A
LT

/4C SHOULD EQUAL Zoee
a8

/ACE4DG0
/TEST COMBINATION (AND)

/CLA SPA SNA FAILED
/AC SHOULD EQUAL ZERD

)

e
%,




FLaSTR_CT A TEST - 1 2alis viél S=DECe0Y 3127 PAGE 71

ZINSTRUCTION TEST = TAPE 4

JGRCUP 2 JPLRATE TEST 43
4ra3 7322 clLa CLb
dped 51492 TAD K2252 sACEBEEZ L 1nKs?
4743 T84 CLA SEL ZTEST CQrulvaTldN
4746 7442 =7 ZCLA SZL 21D NET SKIP
ZAC AND LInK BROuULD 2E 2
4147 7448 T2
4235 7442 w7 /CLA SEL 21D NOT CLEAR AC
/AL FRCULD BE ZERD,  LINKsg
/GROUFE 2 QPERATE TEST b2
4231 7368 CLA CLL CML CMA AC=7777 [ InK=l
4782 753 CLA SEL /TEST COMBINATION (AND)
4258 744y 524
4iE4 7422 <L T /CLA SZL FAIhEﬁl AC SHOULD
/8E ¢48d, LInK=l
/GRCUF 2 OPERATE TEST 51
4¢3% 7378 cLa CLb
47556 1452 TAD K3$/777 /AC23777 L 1MK=@
SE YA - B T SPA SZL /TEST COMBINATION (AND)
4262 7422 -, T /SPa S DID NOT SK[P
FAC=3777  inKae
ARRQUE 2 OPEKATE TEST 22
droy 7322 olLa CLl Cwb
4762 10594 TAY <3777 JACE3777  InKal
42838 T3¢ SPA SEL /TEST COMBINATION (AND)
4264 7452 SNA
4265 7442 ~LT /SPA SBL SKIPPED
/AC=3777 L InKel
/GROUP 2 QPERATE TE3ZT 53
424 7822 CLa CLL
4287 fude TAD Kégpd JACSALEL | ]NK=2
472 7332 §Pa SZL /TEST COMBINATION (AND)
4271 7533 SMA
4572 7442 m T /SPA SEL SKIPPED
FACEARLd L INKEY
/GRCUP 2 OPERATE TEST 54
4078 74X CLA CLL
4274 1452 TAD K3777 /ACEITTT L InKsE
4rys 7738 CLa SPA 524 /TEST COMBINATION (AND)
478 7422 n T fCLA SFPA SE| SHOULD HAVE SKIPPED
FAC SmCULD BE 237, LINksd
4377 7443 374
4108 7442 =L T /0LA SFA SEL UID ANOT CLEAR T=f aC

40 SHOULD 3B eda?



e

ZINSTRUCTION TEST = {1

4171
41672
4123
4124
4125

4106
447
4119
4111
4112

4113
4114
4115
4116

4117
4122
4121
4122
4123

4124
4125
4126
4127

4130
4131
4132
4133
4134

7329
165¢
773¢
7449
7482

7800
1034
77382
7440
7422

7300
1034
7472
7402

7828
1034
7472
7428
7422

7320
7472
7430
7422

732¢
1834
7678
7442
7402

PALLZ

/GROYP

/GRQUP

/GRQUP

/GROyUP

/GROUP

/GRQUP

vidl J=DEC=

2 OPERATE TEST
CLA CLL CML
TAD K$777
CLA SPA SZL
SZA
HLT

2 QPERATE TEST
CLA CLL

TAD K49p2

CLA SPA SEZL
SZA

HLT

2 OPERATE TEST
CLA CLL

TAD K49g2

SNA SZ|

HLT

2 OPERATE TEST
CLA CLL CML
TAD KA49292
SNA S#|,

SNL
LT

2 OPERATE TEST
CLA CLL

SNA SEL

SEL

TR

2 QPERATE TEST
cLA CLL CML
TAD K400
CLA SNA SZ|
SZA
HLT

~

63 127 PAGE 72

25

/AC=3777 | InKsl
/TEST COMBINATION (AND)

/CLA SPA SZL FAILED
/AC SHOULD EGUAL @882 LINKs1
56

/ACS4082 | [NKsD
/TEST COMBINATION (AND)

/CLA SPA SEL FAILED
/AC SHOULD EGUAL 2828 LINK=Y
o7

/AC=4083 | INK=D
/TEST COMBINATION (AND)
/SNA SZL DID NOT SKIP
) /AC = 4228 | INK=O
8

/AC=48D2 | INK31
/TEST COMBINATION (AND)

/SNA SZL SKIPPED
/AC=4220 [INKS1
59
/ACERABD | INKSD
/TEST COMBINATION (AND)

/SNA SZ| SKIPPED
/AC=0020 [INKSD
b

/AC=4U22 | INKal
/TEST COMBINATION (AND)

/CLA SNA SZ| FAILED, AC SHOULD
/BE ©@poa, [ INK=1




#INSTRUCTION TEST - 1

4135
4136
4437
4142

4141
4142

4143
4144
4145
4146

4147
4150
4151
4152

4153
4154
4159
4156
4157

4160
4161
4162
4163

4164
4165
4166
4167
4170

7308
1454
7670
7402

7440
7402

7320
7670
7440
7402

7309
1639
7570
7402

7328
1950
7570
7420
7402

7380
7878
7430
7402

7300
1034
7574
7439
7402

FALLD vidl

I=DEC~69 9127 PAGE 73

/GRQUP 2 OPERATE TEST 61

CLA
TAD
L4
HET

SEA
AL T

/GROUP 2 OPERATE TEST

CLA
CLa
SZA
W T

/GROUP 2 OPERATE TEST

CLA
TAD
SPA
ML T

/GROUP 2 OPERATE TEST

CLaA
TAD

SPA
SNL
mLT

/GROUP 2 OPERATE TEST

ClLA
SPA
S
r, T

/GROUP 2 COPERATE TESY

cLa
TAD
SPA
SEL
HLT

Ll
Ka¥ge
SKa s

CLi
SNA SEL

CLL
K$777
SNA sZL

CLL CMi
KS$777

SNA SZL

CLL
SNA SEL

CLL
K400
SNA SZ|

/AC34KED | INKER
/TEST COMBINATION (AAD)

/CLA SNA SZL D]D NOT S5KIP
/AC SWOULD BE £822, LINK=2

JCLA SNA SEL D]D NOT CLEAR AC

/AC AND LINK SHOULD BE ZERO
62

/AC=0080 | INKS2

/TEST COMBINATION (AND)

/CLA SNA SZL FAILED, AC SHOULD
/BE U@, LINKsB
63

/AC=3777 L INKzE
/TEST COMBINATION (AND)
/SPA SNA SEL DID NOT SKIP
/AC=3777  INK=@
64

/AC=3777 L INKs]l
/TEST COMBINATION (AND)

/SPA SNA SZ| SKIPPED
/AC=3777 L INK=mY
65
/AC=p088 | INK=D
/TEST COMBINATION (AND)

/SPA SNnA SZ|, SkIPPED
/ACa20R8 | InK=@
66

/ACE40ER | INKSE
/TEST coMBINATION (AND)

/SPA SNA SZL SKIPPED
/AC=40220 [ INKs=D




-

/INSTRLCTION TEST = 1

4171
4172
4173
4174

4175
4176

4177

4220
4201
4202
4203
42¢4

4203
4226
42287
4219
4211

4212
4213
4214
4215

4216
4217
4220
4221
4222
4223

7840
185¢
7778
T4¢2

7442
7502

7688
4220

7820
1652
7770
7440
7482

7300
1034
7770
7448
7422

7500
7778
74402
7402

7208
1052
7604
7641
7449
7402

PALLZ vidl 3=-0EC=69 9127 PAGE 74
/GRGUP 2 CPERATE TEST &7
cLa CLi
TAD K$777 /AC=3777 LINK=2
CLA SPA SNA SZL /TEST COMBINATION (AND)
ne T /CLA SPA SNA SZL DJ]D NQOT SKIP
/AC AND LINK SHOULD BE ZERQ
S2A
HLT /CLA SPA SNA SE| DID NOT CLEAR AC
/AC AND LINK SHQULD BE ZEROD
NOP

#4202

/GROUP 2 OPERATE TEST 68

CLA CLL CML

TAD KS777 /ACEI777 [ INK=1

CLA SPA SNA SZL /TEST COMBINATION (AND)

SZA

HLT /CLA SPA SNA SEL FAILED, AC SHOULD

/BE 2220, LINK SHOULD EQUAL ONE
/GROUP 2 OPERATE TEST 69

CLAa CLL

TAD K4¥ép2 /AC34480 | INK=2(

CLA SPA SNA S2|, sTEST COMBINATION (AND)

SZ4A

WLT /CLA SPA SNA SZ| FALLED, AC SHOULD

. /BE 2220, LINK SH0ULD EQUAL ZEROD
/GROUP 2 OPERATE TEST 72

cha CLL /ACSBR0D | INK=D

CLA SPA SNA SZL /TEST COMBINATION (AND)

SZA

HLT /ClLA SPA SNA SZ| FAILED, AC AND

/LINK SHOULD BE 2EROD,
/GROUP 2 OPERATE TEST 71

CLA

TAD k5252 /AC=5252
CLA OSR /TEST COMBINATJON
CMA

S&A

HLT /CLA OSR FAILED

/AC SHOULD BE @@e2

=




AINETRUOTION TEST - 1

4224
4229
4226
4227

4239
4231
4232

4239
4234
4235

4236
4237
4240

4241
4242
4243

4244
47245
4246

4247
4257
4251
4252
4253

4254
4255
4256

4257
42464
4261

4262
4258
4264

7200
1034
7204
7402

7248
7448
7462

7200
7444
7422

7040
7447
7402

7328
7424
7422

T¢4w
7440
7462

7540
1852
7764
7450
7402

7042
7440
7422

7288
7414
7402

7249
744%
7492

pALLE

v141l 3=DEC~
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/GROLP 2 OPERATE TEST 72

/GRQUP

/GROUP

/GROUP

CLA

TAD K402
SmA QSK
“LT

CHa
SZA
HL T

/AC=400E
/TEST COMSINATION
/SMA OSR FAILED TO SKIP
/AC SHOULD BE 7777

/5MA DSR FAILED
/AT SHOULD BE 7028

2 OPERATE TEST 73

CLA
SEA OS8R
LT

CMA
SZ4
LT

/AC=EBRY
/TEST COMBINATION
/SZa OSR FAILER TO SKIP
/AC SHOULD BE 2220

/SZA OSR FAILED,
/AC SHOULD BE 8220

2 OPERATE TEST 74

Ll CHL CLA
SN| OSK

Ml T

cMa

SEA

HLT

JLINK=DL

/TEST COMBINATION

/8NL OSR FAILED TO SKIP
£4C SHOULD BE 7777

/SNL QSR FAILED,
/40 SWOYLD BE 0@e¢

2 OPERATE TEST 75

cLa CLi
TAD K3777

CLA SMA SZA SNl OSR

SVA
ML T

CHA
SZa
HLT

FAC=3777 LINK=2D
/TEST COMBINATION

JCLA SMA SZA SNL OSR FAILED,
/AC SHOULD BE 7777, LINK=2

sCLa SMA SZa SNL OS8R FAILED
/AC SHOULD EQUAL ZERQ

/GROUP 2 QPERATE TEST 76

CLA
SKP QSR
L ¥

CMA
SEA
w7

/4Cz2078

/YEST COMBINATION
/SKXP 0SR DIDQ NOT SKIP
/A0 SHOULD BE 7777

/S<E QSR FAILED
AAC SRMOJHD LQUAL 2ERC

®
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/INSTRUCTION TEST = 3

4265
4266
4267

4270
4271
4272

4273
4274
4275
4276

4277
4328
4301

4352
4333
4304

4305
4306
4377

43190
4311
4312
4313

4314
4319
4316

7268
7514
7482

7049
7440
7492

7200
1831
7454
7402

7040
7448
7402

7300
7434
7402

70472
7440
7402

7300
1852
7774
7402

7040
7440
7402

PALLZ vi4l 3=DEC~069

/GROUP 2 QPERATE TEST 77
CLa
SPA OSR
Wi T

CMA
SZA
ML T

/GROUP 2 OPERATE TEST 78
CLA
TAD Kb4pg
SNA OSR
WL T

CMA
SZA
HLT

/GROUP 2 OPERATE TEST 79
cLa CLi
SZL OSR
LT

CHA
SZA
LT

/GROUP 2 OPERATE TEST b8
ChA CLL
TAD K3777
CLA SPA SNA SEL
HLT

CMA
S24
HLT

-
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JAC=2URD

/TEST COMBINAT]ON
/SPA OSR D1D NOT SKIP
/AC SHOULD EQUAL 7777

/SPA OSR FAILED,
/AC SHOULD BE 2202

/ACEZ4DD
/TEST COMBINAT]ION
/SNA OSR DID NOT SKIP
/AC SHOULD BE 7777

/SNA QSR FAILED
/AC SHOULD BE gowe

/LINKER AC=0UPD
/TEST CcomBINAT]ON
/SZL QSR 01D NOT SKIP
/AC SHOULD BE 7777

/SZL OSR FAILED
/AC SHOULD BE @age

/ACS3777 | INKsD
OS8R /TEST COMBINATION (AND)
/ABOVE MESS DID nNOY SKIP
/7AC sHQULD BE 7777

/CLA SPA SNA SEL OSR FAILED
/AC SHOULD BE @o09




FINSTRUCTION TEST =~ L

4317
4324
4321
4322

4323
4324
4325
4326

4327
4332
4331
4332
4333
4334
4335

4336
4337
4340
4341
4342
4343

4344
4345
4346
4347
435¢
4351

7200
2051
7449
7402

7240
PEY)
7440
7402

7320
1251
LR
7040
7430
7442
7402

7320
1253
2052
7428
7442
7402

7308
1452
2253
7420
7440
7402

Paj12

/AND TEST 3
CLa
AND
SEa
sl T

/AND TEST 2
' LA

AND

SZA

HLT

/AND TEST 3
CLA
TAD
AND
cMA
SZL
SZA
ALt

ZAND TEST 4
CLa
TAD
ANQ
SNL
SZA
HLT

/AND TEST S
CLA
TAD
AND
SN
SZa
HLT

V14l

3=-DEC«69

K7777

CHA
Kooan

CLL CML
K7777
K7777

CLi
K2525
K2252

CLL
K5252

K2225

9187 PAGE 77

/AND FAILED AC SHOULD
/BE 2009

/AND FAILED

/AC SHOULD EQUAL @2uen

/ACE7777 | INK=]

/AND FAILED, AC SHOULD BE

/82230, LINK SHOULD EQUAL ONE

/AC=2925 [ INKsg

/AND FAILED, AC SHOULD BE
/0822, | INK SHOULD BE @

/AC=5252 | INK=@

/AND FAILED, AC SHOULD BE
/8232, LINK SHQULD BE @



FUVSTRUCTION TEST - 1 FPALLY vidl daDEC=69 2147 PAGE 78

FanD TEST 6

4352 7580 LA CLib

4353 12335 TAD K7776 /AC=T7776 L IhK=E

4354 ¢u2 AND K2252 /TEST INSTRUCTION

4355 7441 Cla /AG=2926

4356 1452 TAD K252 /AC=7E20 | InKsl

4357 7439 SEL

4360 7448 32A

4341 7422 HLY /AND FAILURE, AC SHOULD BE
/0d%e, LINK SHQULD gt ONE

/AND TEST 7

4362 730¢ cLa CLL

4363 1053 TAD Kéo2b /AC=2925 | INKsE

4364  pE53 AND K2525 /TEST INSTRUCTION

4365 7041 ClA /AC=52583

4366  1¥5$ TAD %2225 JAC=80B8  LINK 2 1

4347 74338 S2L

4373 7440 SZ4

437L 7442 HLT /AND FAILEOD, AC SWOULD BE
/3822, |LINK SHOULD BE ONE,

4372 7082 el

4373 7408 ~OP

4374 T6u2 0P

437% 7498 NOR

4376 706@ «OP

4377 7908 NOP

4409 TLYE
/CHECK FOR BELL

4420 70 CLA
4421 122¢ TAD BLCNT
442 7021 [AC
4438 3220 GCA BLONT
4404 1220 TAD BLCNT
4405 7649 S#£a CLA
4476 5147 JHP START#3
4427 1221 TAD BLOON
4413 3222 2CA BLONT

/RING BELL
4411 1217 TAD BEL
4412 6946 TLS
4413 6v4L TSF
4414 5213 NET-EELD
4415 6242 TCF
4416 5147 JMP START®S
4417 237 Ziby J2é7
442y  To8¢ BLCNTs =222
4421 7o0d BLCOM, =283

$







MAINDEC EVALUATION REQUEST

After sufficient familiarization with the operation and documentation of this MAINDEC,

please indicate your assessment of the following areas and return this form to Digital Equipment Cor-
poration.

IDENTIFICATION: MAINDEC NO. Program Title

USAGE: Used by: Field Service C] Production D Other

Frequency of Usage: Dail Weekl Monthl
Y y Y Y

SUGGESTIONS FOR IMPROVEMENT

1.

Are the program loading and operating instructions: clear?D, incomplete ? D, difficult to

follow ?D

O

2. Do the error reports and program documentation provide sufficient diagnostic information:
in all cases?D, in most cases ? D, in very few cases ?D. Suggestions for improvement:

3. Is the program effective in isolating malfunctions: in all cases ?D, in most ccses?[j,
in very few cases ?D. Would additional Scope loops or Switch Register control be helpful ?
Suggestions for improvement:

4. Does the program ever fail to detect malfunctions exposed by other software ?

Were Margins used ? Please describe malfunction in detail:

5. Does the program ever report non-existant malfunctions ?

Please indicate erroneous report and any pertinent operating conditions:

6. Does this MAINDEC ever expose malfunctions in the Central Processor or other peripheral units not
detected by the appropriate MAINDEC ?

Please describe malfunction and MAINDEC(S) used:

7. Does the document provide a general understanding of the functional programming requirements of
the system? Good@ , Fair] |, None|[ |. Would a general description of programming re-
quirements increase the effectiveness of this MAINDEC ?

Remarks:
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